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lTl]crc are 150 objective multiple cholce questions in this paper. This Question Booklet is made up of the following fourl
Sections : Section-L, IT & I of 30-30 questions each and Section-I[V 1s of 60 questions. The candidate has to attempt all

l sections. Each question 1s of one mark. There 1s no negative markmg for wrong answer. I
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Note : 1.InSections [T and III, a candidate has to attempt the questions of Languages compulsorily, selected as Language-[ and
Language-II in the Online Application Form.
2.In Sections-1V, it is compulsory to attemnpt the questions of Section IV {a) or Section IV (b} as selected
subject in Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2.

[ Read the instructions in English & Hindi at Page No. 96, last page of this booklet._]
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SECTION -1
TqUg - |
CHILD DEVELOPMENT AND PEDAGOGY
a1t foerre wE frememe

There are 30 questions in all in this section.
All questions are compulsory.

A EUE H Hel 30 IH B |

oft wom e B |
1. Which level of measurement is least used in educational psychology ?
(A) Ordinal scale (B} Nominal scale
(C) Ratio scale (D) Equal interval scale
Toren wHITRA 6 R Tt % WIvH 1 =JHaH ST R S 7
(A) Ry Al (B)  fareh vt E%?
(C)  rgaricres T (D) THM FF=<e 21 [

2. Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden
(C) Leaming co-curricular activities (D) Continuous and overall evaluation

e urgEEEl €RE-2005 H1 6 g3 F1  7
(A) SIS FHererard diEH (B) Torm &g & di@
(C) we-Nfirs nfafaf@i v e (D) dad veg SIS Yo

3. Which statement is NOT true for Right to Education Act— 2009 ?
(A) Free and compulsory education for every child between 6 to 14 years.
(B) Provision of School Management Committee.
(C) Constitution of National Commission for Elementary Education,
(D) Minimum 60 hours of work per week for a teacher.
foren =1 sferr arfafam-2009 % ford s @ Fu g 7 @ 2
(A) B: 8 dIcg a9 *h Tcdh areteh < foidl (:39[eeh a rfHamd fareq
(B) Taamer ya=s1 oiafa 1 JaaH
(C) wrafies e & o wdia smam &1 e
(D) 7eATaeh < fordt ufd waTg =T 60 =vel 1 FE

4.  Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum
(C) Stephen M. Covey (D) Stephen M. Corey
foren & foparcres rpHe™ % fomma # forar Amem = faan 7

(A) A (B) 1.3, wfbam
(C) V%A U, B (D) V%A T, B
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According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

fora uftie & 1gam ara faswm ol % aret v fafire qen qeerafeud sorel @i g 2 ¢
(A) aareefi (B) @S

(C) e (D) FHras

Which of the following psychologists is NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow

(C) Albert Bandura (D) Lev Vygotsky

P TR i 8 i aren e 35 g & v e 7

(A) s frms (B) 3TSTEd Higel %%
(C) 3read sgu (D) e araiiehl s

Which method is NOT valid to study the role of heredity ?

(A) Twin study (B) Parent-Child analysis
(C) Adoption study (D) Peer group study
e <61 e 3 st 3 ferd i aft s w2 7

(A) Teal o= 1 A (B) 3tfivraeh-aTereh fagersm
(C) Guish-TIgvl JICFH (D) oS TYg A

The observable physical and psychological characteristics of an individual is termed as

(A) Prototype (B) Karyotype
(C) Phenotype (D) Genotype
wh At hi femré 37 areft 2fesh qun wHmte fodwaeit 1 % w0 # ofonfea foman

12 |
(A) WiErersy (B) HRARTEI
(C) TR (D) SHFRRET
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11.

12,

(3
Which test was created by Henry A. Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test
& u, gt qun fnfeearn . wits gro s wfeor fififa fear mn ¢
(A) ara qfd wdEm (B) HicTg Safehed 3T
(C)  HUFH HTcII qHequ (D) o= puar wliem

Which factor 1s NOT related to growth of a child ?

(A) Nutrition {(B) Health

(C) Sleep (D) Domicile i
e Ik ol 91 B i 6 hh wra e T R 7 e
(A) 99T (B) @A

(C) fm (D) féama

Which dimension of development is influenced by the theories of Noam Chomsky ?
(A) Language development (B} Moral development

(C) Emotional development (D)  Cognitive development
fareprar %1 &6 |1 ST At =i & g @ warfad gan 2 ¢

(A) W fomE (B) 3ferh fasm

(C) e famma (D) wHFFREH faemmd

Individual differences in temperament are basically

(A) Learned (B) Innate

(C) Acquired (D) Cultural

ware 1 eafea fafisand smumyg s 4 Bl 8 |

(A) ferfi (B) ST

(C)  HAfada (D) HEHlH

Who has NOT propounded any theory of personality ?

(A) B.F. Skinner (B) Sigmund Freud
(C) Gordon Allport (D) Ramond B. Cattell
fore saforea & foreft oft forgra w1 wfamfea <& fopn 2 2

(A) .TF. Fhi (B) famus wrg

(C) TMEA 3T (D) Ymuedt, ¥
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16.

]Tl

18.

(6)

The term mental retardation is replaced with which term ?
(A) Intellectual disability (B) Mental weakness
(C) Intellectual backwardness (D) Intellectual disadvantage
wrfae femfea ue @ fovd ug & w1y wfaeenfia frn mn 2 2
(A) ifgs smEma (B) WA HAHI
(C) wifgs frzgmm (D) sifge wfeperar
Which of the following is NOT true for the theoretical concept of personality ?
(A) Stable (B) Normal
(C) Enduring (D) Unique
eferea 1 Fgifaeh sraumon & ol Fra A d SR mam 3 2 7
(A) fer (B) @M= #

- ES E
(C) Tt (D) ST Eﬁ“?

Which test is culture-frec Non-verbal test of Intelligence ?

(A) Group test of Intelligence (B)  Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
I T A GG B G- H1-aifas T 2 7

(A)  Sf g = wyg qdeu (B) SieR aarteh gfgmen amHl

(C) wirfean aedi (D) wves it Afgas

Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic

(C) Emotional (D) Existential

FgATH FlZATIA o S % g 4 HH i ghgr afefoa 8 8 ¢

(A) a:Jafes (B) 9rpfas

(C) TS (D) e

Creativity is associated with which kind of thinking ?

(A) Overthinking (B) Meta thinking

(C) Reflective thinking (D) Divergent thinking

TEHTCHehdl fo= % Hi4 A YR & wrafa 2 7

(A) ety famaa (B) Irta-fa=A

(C) Temsit fa=m (D) vEr faaa
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19,

20.

21,

22,

N

Which method is NOT directly related to children with special needs 7

(A) Diversity of curriculum

(B) Development of sports and extra curricular activities

(C) Different teaching methods

(D) Training for special activities

fersiw sravasaIaT Al wTerhi % w1 B € fafy yore s Q@ wrafia @8 7
(A) TrgasHH 1 fefvreiet

(B) Weishe 9 sifafem argzsen nfafaftmi =1 o

(C) Tirm fareqon fafert

(D) fersry wifafafer < for wfirem

Learning disability related to reading is termedas

(A) Dyscalculia (B) Dyslexia

(C) Dysgraphia (D) Dysthymia E%?
UeH ¥ waf-ud At ema Sl HE g |

(A) femhagforn (B) fewifawn

() fearfem (D) Teremsfimn

Children who are deprived of minimum basic facilities are classified as

(A) Delinquent children (B) Special children

(C) Disadvantaged children (D) Backward children
= SURYA gfaenadi & afea st w = w9 1 arifea fen s e
(A) e ST (B) Tafire sres

(C) videe ufiferfara sas (D) Tr=e oo

Which of the following is a behavioural symptom of maladjustment ?

(A) Aggression (B) Anxiety
(C) Insecurity (D) Apathy
1 1 & 1 w1 FHAEISE 1 TR a0 B 7

(A) ATHTHHAT (B) Ta=m
(C) g (D) e
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26.
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Which statement is NOT true for the concept of learning ?

(A) Learning is the change in behaviour.

(B) There is a relatively permanent difference.

(C) Learning is influenced by practice.

(D) Learning is an innate mechanism.

Fferm <61 sraamon % ford i m T e i @ 7 Q%‘%
(A) i syagr 4 dftadq 8 | s
(B) 3aereha wq & wureht 1w ufterfere e 2 |

(C) iferma rame g waifad gan 2 |

(D) 3T ves S=gad ufFa 2 |

Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B) association

(C) imitation (D) insight

Ta viaed g sfaifed et srgeseE fagra arfemm w1 fre < g gogman @
(A) YAsaA (B) W=

(C) 3FH (D) 3iagiE

Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
Fre 33 8 o arer 35 o o 61 i T 2 7
(A) wfafarsm (B)

(C) aftaeerE (D) HedAT

The concept of reward and punishment in learning is introduced by whom ?
(A) E.L. Thorndike (B) Kohler & Koftka

(C) B.F. Skinner (D) Albert Bandura

wferm 8 EpR 9 gue it raunon femes g weafaa fi g @ v

(A) %.Ud. uiieEs (B) higell & hithl
(C) #l.us. #h (D) 3ewd agU
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27.  Which process 1s NOT directly related to role of motivation in classroom learning 7

(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration

a1 At 1 stfirsro 61 yfre for when @ e w0 @ wafia e v
(A) IR e afors <61 e (B) 3radafthe TURISH

(C) ST G ST (D) 3AHIET TR

28, Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman

(C) Noam J. Chomsky (D) Joseph D. Novak

Toren 1 sraeon amfeEw freek gra genfoa fren mn ¢

(A) e 9 (B) ®ifeq §. dfcrmi= E%%
(OEELERS = (D) STE €. Aiamh Ot

29,  Which type of teaching is NOT based upon objectives of teaching ?

(A) Cognitive teaching (B) Descriptive teaching
(C) Aftective teaching (D) Psychomotor teaching
Tvegor <1 1A |1 SR et < Igvdl W AT A6 2 7

(A) GFHHS e (B) auiHTcH fargmor

(C) wrETes e (D) HHTETeHeh farerr

30. A group creativity method tor solving specitic problem by gathering a list of ideas
spontaneously is known as -

(A) Brain storming strategy (B) Mastery learning strategy
(C) Problem solving strategy (D) Heuristic strategy

Fafiterar @ fommi =it gt = wehaor 3 gra fafire wen < garam 6t gug waesa fafa =
el STl 2

(A) witrss faca giw (B) @i it e
(C) |H& qHI9H Ffth (D) =N e
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g - 11
YT -1

THEUE T A 30 WH & |
avft w safrard € |

frfcifiga e & ST WA T 31 9 40 99 o I S

T : T " FERE JH1 W YW didl @ 1 o W Uk 3R 96F H1 197, 36 +
AR, ¥¢ B T FABCA W ds S ABGEG % @l H1 g9 @ @ df gl 3R
TETeHSAT =1 gaTd &dT 2 | fa srferes 9 et g, 3a3 & sifers 97 s gamEi 1 ufety
T FU T, T It & ATk Tl ghft | §5eh TR Tg T U a1d 98 ) wwer =rige foh s«
TR T @l Hafed Sm, a8 98 A9 T8l @ {6 Tgd TE1 had a4 g A 9 € @
et fop wom @ qd i wwtEn # Hfoua 6w off | Fror ag @ T wafen @9 il d @ sm w
ATadd 1 gard Wi A | 3" I8 Tad 39 frar 3R HE gea S, I8 I fau 9= % #g
1A T2 A | A8 A1 T 5 =g g T S 8 R e T # ) e ) i ° vl fafgared
TEd &, 3 3 Ut e oft 2t 8, fames ufa T R w9 21 8, 98 ey 96 | 98 W
g1 a1 2 o o s Fram <@ 2 f6 o 9t 3 san & 9 fraan cias 3 9@ 2, 9% 59 e
1 Hfer oft 1A Gehdl 8 3 i -HIR faada o e gl 2, 309 B3 I8 ] | I 310 &
zaTa 35 2ft 1 AT W i 3T T et 2 | gerdt i %ad @ 6 “foraa gure, fafen g’
TBIA 2 | TEIT Beteh hl THEN 331 I & 918 oft, iy argft & amaH & avd’ 9= $i oftsn
ST TR @ T |
31, SIS v Ioqta S MUR W E —

(A) dgHg (B) d=H
(C) ferasft (D) <

32, ‘U <l yAEETE Ieq 8 — —
(A) W@ (B) Wl ma
(C) “Emh (D) HA

33, oo daem % 9 4 srgufa g8 2 | e & foru Iuge e | -
(A) W (B) @IS
(C) wGafea (D) Gam

34, ‘IGYIE’ V&g I I Weg §AM o foTu i | 3us weped @ 7
(A) (B) 3
(C) 3 (D) 3
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35.

36.

37.

38.

39,

4['.

4..

~2

(11)

‘At veg WY WoId & —

(A) &1 (B) =

(C) 3% (D) fae
Fafgard’ oree d wfu g -

(A) o1 Ef (B) & afy

(C) Ty (D) gfg =i
ﬁﬂfﬁf@ﬁm@ﬁﬂm?ﬁ% EiE
(A) 31 (B) & 2
(C) & (D) T

‘FHW 91eg T hIA | G & 7

(A) Hexdt-ra gy (B) ey HOTH
(C) Zg o™ (D) fom e

a8’ e | e B —

(A) Tro=aares gdam (B) HaEYdras qa4H
(C) Frstaras g (D) Afvagaras gaam
W e HHE ER 7

(A) SAfFTaTES 3l (B) Sifdar=es |1
(C) =garas aal (D) WreErEs |3

Freafafiga mems & s o gv T 41 ¥ 46 9% < 9w & A i ;

T, o, AR 3T 8 ShY WIS i TP § S A ghitar A s o1 Gt & | et
S Y T 8 91 UL A 8 Fifeh 37 quft wesni i fiaea ay & wro € wva 2 | g 8 o fafie
uTTd &, ol 2, U 2 SR wfeat 3, ara: oy < fra o g v wwenet w5 srcfus @ 16
& =fRn | wfaca g a8 % ava @ i arfecs weeta gedti 1 aun w51 51 A § |
ag =afaa =i fafimy ani 9 feonfoa 8 o | famn <t wmn’ 3 sneht @9 6 afiw B, 99
e o aifeea Y 3= ferenaidt g anedht i et & Srer i wehd § | 78 Sl wRY ot gan
2 W 3T S 99T At feard 7E 2 | wen AR mifee 1 9T il TeR-vER A
wifgu | FeaT Sig-gieH, dare, AfFER g S=i-aratst % g e <n | e e
I HHE T AT ST SRR 8 | THTER, T -uherd, e, gtevH, feew anfg meam
78 T @ & S g1 3 A 78 @ 7 | e g grenn’ ofidss i afed i srgmfera
AT 8 aU1 TY & Uid 6 Hodad 84 o feu SfE 6 2 | 35 YR % aE afe drda-s
TeyTd, anfeea eATd ol dl T TP g9 Chal & g H 919 Tehd & |
“Sfeat’ 31eg 1 UdhaEd & ;
(A) STl (B) S
(C) il (D) wfa
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46,

47.

48.

49,

50.
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(12) PL-
“Temraedt’ oreg 1 20 2

(A) whien (B) W&t

(C) T (D) AT

‘IR TS @ I'WaE T sH A HlA 8 7

(A) HNTS FAHH (B) e aduH

(C) i g8 (D) TR FadH

‘T wee 8 -

(A) Iwafen (B) gfeem

(C) AGERiAT (D) @i
‘eafdd’ T2 o1 ager €9 g ; E%%
(A) =Hfad® (B) =Afadca B
(C) oafFTan (D) Afs

TS & “q181 e 1 HH 8l ®0 8 :

(A) ATl (B) WTHT

(C) Hmm (D) W=l

T & 3 B

(A) 3% (B) fatm

(©) Fmper (M@ @) EiEdtel (D) s T
it e 4 32y U e fat | w9 81, 98 e 8

(A) HATSHTIS 914 (B) 3f3a 3vame™

(C)  Hebd1ele IUdTH (D) IHH ITGTH

‘2t FSTET geral o 3Y 2

(A)  FHqRTE Al (B) Tooment wewm T

(C) T&T T (D) &IH W@l

‘O -1t # Sftem feamn’ & 31ef 5 Sugea Aol 2

(A) 9T T@ TR =€ (B) 279t ST TR Iat
(C) 13 i =t ged (D) 33 a1 A1 BN

forenfehii =1 T o & W A g e e i e S e fred
Hivre 1 2ef Tepan e 8 | 2y faft =61 =g s 2

(A) ATeT SEeen fafy (B) e we fafy

(C)  Tga - fafe (D) @ fafey

https://www.pygonline.com


https://www.pyqonline.com/

52,
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35,

56.

37,

38.

59,

60.

(13)
Eleed TuTeit &l aATfashi fepae fama 7

(A) Tererdfes 3 (B) Sreead
(C) wweHd (D) Trhg® A
&8 3T < gEr fren i frd afrn § afmfea e 2
(A) SR (B) eATERINGS S
(C) SR (D) HFER i

gret Aer@ it ATIvIh I K2 7

(A) 3rera forad aea freres Taeneff 61 vgrrar 3 %1 |

(B) e %R it fofEamn Y, |

(C) IFci@ # Hef <hi aTae Ieit & a1 =nfzu S 6 sesl cr@ A & |
(D) 37 guft fersped wdl 2 |

- e w1 gy -sre v 2 - m5E
(A) o fereees o (B) W m
(C) = (D) AT

ST B UTgATEdh < =ik ¥4 7 Aftifera awa 72 & —

(A) T (B) oo gt

() foer (D) et

frafafiga 4w gaRcE F AT R AR 7

(A) e foremr & gfd (B) @A % forw sramy
(C) fopeu(A)w@B)IA TR |1 (D) FTH AR

s @ wifiges wlennati 1o 2 -

(A) U fo1ees v e 3 v €t 91 sl ThE o TR 2, 21 a0 A A 2 |

(B) Tifiges ultenati i axqfm & smmn < e |

(C) ¥ witenadi @ foeneff % i TRt v — g4, 98 3R SieH %1 s Wy A e
31 Hehal & |

(D) 3 TenaT o foranedi & orga e o1 779 T8 L Tehd 8 |

frafafea 3 @ srafeu oliem & fafu 2 afofra i da s a o =i g ¢
(A) T TS ST | (B) ieTvr = SR w9 =i TEET T |
(C)  iegor 1 gAfieqor (D) Wi sl TR

Heldl U SATIeh Hodiehl SVt 61 216 2 :

(A) 79 GEaT=R 4 gH arefl e (&) § famnefl © a¥ sremasiia & & |

(B) et Teremeft =1 srmarveres Féom wa wmst Frim s @d 2

(C) Taaneff &t ot wfugi o1 99 Fia ST a2

(D) Teremeff @ ad s e 1w w1 e 8, Faraw e wmifaes fomm wnfaa gt 2
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Read the passage and answer the questions (Q. Nos. 31 to 35) that follow :
A marriage as early as that was the last thing on her mind. She threatened her parents

that she would never marry if she did not get a proper education. She left home and got
herself enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school

fees. Her parents then agreed to pay for her education.

31.  The synonym of ‘refused’ is
(A) granted
(C) permitted

32. The antonym of *politely” is
(A) courteously
(C) rashly

fad
e

The correct spelling is
(A) acadimision
(C) acedamician

34, The verb form of *enrolled’ is
(A) enrol
(C) enrollment

35.  ‘Part-time” stands for

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(A) working less than standard hours (B)

(C) working in obligation

(D)

denied
allowed

humbly
angry

academician
academision

enroll
enrolment

working in parts
working for no remuneration

Read the passage carefully and answer the questions (Q. Nos. 36 to 40) that follow :
Friends had conjectured that the bear would not recognise her. I had thought so too.

But while she was yet some yards away from his cage, Baba saw her and recognised her.

He howled with happiness, She ran up to him and petted him through the bars, and he stood

on his head in delight.

36. ‘He howled with happiness.” The underlined verb is in

(A) Present Simple
(C) Past Simple

(B)
(D)

___tense.
Present Perfect
Past Perfect

37. She ran up to him and petted him through the bars. The underlined word is -

(A) interjection
(C) adverb

(B)
(D)

conjunction
preposition

https://www.pygonline.com
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39,

40.

41,

42,

43,

44,

46.

47,

48,

(15)
Choose the conjunction :
(A) her (B) within
(C) the (D}  but
The determiner is
(A) and (B) had
(C) the (D) up
Choose the correct comparative degree of *happy’
(A) Thappier (B) happiest
(C) more happy (D) most happy
Choose the right question for
She sold all the articles for no profit. E%‘%
(A) Did she sell all the articles for no profit ? Eics:

(B) Did she sold all the articles for no profit ?
(C) Does she sell all the articles for no profit ?
(D) Do she sells all the articles for no profit ?

Choose the active voice of

Saina had been supported by her maternal aunt.

(A) Saina supported her maternal aunt.

(B) Saina’s maternal aunt supported Saina.

(C) Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt had been supported by Saina.

The saint chanted, “God is great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B) The saint told that God was great.
(C) The saint said why God is great. (D) The saint said whether God is great.

The word for the phonetic transcription / I'mi:diatli / is
(A) emidiately (B) immediately
(C) imitate (D)  immediate

The number of vowel sounds is

(A) 8 (B) 12

() 20 (D) 24

*The knowledge can be stored in mind permanently.” This principle is termed as
(A) Aptitude (B) Gradation

(C) Concreteness (D) Selection

Words that are understood and constantly used form
(A) limited vocabulary (B) active vocabulary
(C) passive vocabulary (D) constant vocabulary

Dr. West’s comprehension test was
(A) non-linguistic (B) linguistic
(C) comprehensive (D) structural
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60,

(16)
Variables can be interchanged in
(A) Simple substitution (B)
(C) Grammar (D)

‘New words at early stages should refer to objects and actions which can be shown and

Compound substitution
Phrases

demonstrated in the classroom’ 1s a precaution of

For a good test in English
(A) language must be lucid and clear (B)
(C) the questions must be complex (D)

‘Matching Test” is an example of
(A) Short answer type (B)
(C) Essay type (D)

Situational Approach
Direct Method

Advertisement board
Poster

Wrong habits
Writing carelessly

Good quality white paper
Readable size of the letters

cheapest
physical

interest
verbal input

portfolio
writing tests

formally
timely

crowded classrooms
government schools

(A) Structural Approach (B)
(C) Bilingual Method (D)
The exercise of listening skill is
(A) Sports commentary on a radio (B)
(C) Pamphlet (D)
Which one of the following is a measure to improve bad handwriting ?
(A) Use of ball pens (B)
(C) Proper posture (D)
is not a technical characteristics of a text book.
(A) Proper spacing and margins (B)
(C) Lengthy texts (D)
‘Blackboard’ is the aids for teaching.
(A) technical (B)
(C) modern (D)
Audio-Visual aids save
(A) money (B)
(C) effort (D)
Students improve their critical thinking in
(A) peer assessment (B)
(C) cloze test (D)
CCE s carried out in classroom.
(A) strictly (B)
(C) nformally (D)
CCE 1s not successful in
(A) private schools (B)
(C) small classrooms (D)

the text-books must not be used
the questions must be simple

Long answer type
Objective type
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(17)

@UE ||
ST — 1
HEhY

mﬁmm:nﬁl

'!ﬁ 2T quaal: |

freferfigan smafed merem snure womt: (31-35) Tmen: —

T AW A Ay | Yo I gehelrmi: fenreRn am amfts: fousa | gfam @ wgEn

TAYH: TIEHATEH af-d | 99 ARV EHEE U SAHN A1 $EY i | 3 oo
e Tarfufaaere: 21 wwfaa: sta: | 3r@: 9 g dical v uad <oy 3UTTes | 31 T
Uf gt sitiferes amaforeh = 1iE afdd | Wehd: Tiwed g Tavi=iam |

31.

32.

34,

35.

“ggme” goud o fawfa: ¢

(A) 9T (B)
(C) =i (D)
“TMitRTt: " seua af -fa=ae: Fona: |

(A) T + Afgs: (B)
(C) T + 3frs: (D)

“for=a” 33 6 AN 7
(A) @I FTHR: (B)
(C) g THR: (D)

“OuTiad:” 39 & IoIT: 7
(A) (B)
(C) = (D)

“Gaygfa:” 9 AU 7
(A) AegTE: (B)

(C) wgsifa: (D)

et
e

T 4 HATTH:
Tﬁ‘ﬁ+3ﬁﬁ?ﬁl:

e AR
fafafarg @

LNy
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freferfiaan srafed marem snuree feafgan: s (36-40) Tmean: -

TeRere Wfigaiy SeereR e wngt wvtmrdarmt. e fafiw g afa |
92, e darald adrend: il  ade arediae saf 2o afd desrerereata | o ae
Ao ST eaATNTEEH, YREeEd, e R Sgan TR THEETEE 9 fdad
uvafa | favafaeray smorfammriiamm -derore wfive e Saeiesaue gu-a
A |

36. “SH9C” 30U & faufaa: ¢
(A) wH (B) u=Ht
(C) 9y (D) HeaHt

37, “wyEf” o YTgiiEd —

(A) #H (B) 34 E4E
(C) 99 (D) € e

38. “gEdd a3 TR 3ha fen 7

(A) Teromor (B) Taerem

(C) A=3aHq (D) 9rgEIH
39. g g fo forgmy arfea 2

(A) Tfeasm (B) TqEhfcrEy

(C) Gifagn (D) 3vafagy
40, ‘AT 3T {@iigdaue o: i ?

(A) TorEfa: (B) dreigfer:

(C) Fvopfa: (D) gfgafa:
41, sIeieh: Jeish yald | 31 Wifgaug fafufegerpeed wafd -

(A) ¥3d (B) 934

(C) 93q (D) ufesafa
42, “wourEfa:” 3id TERd HE) HEATE TgEH_ ¢

(A) 85 (B) 96

(C) 78 (D) 65
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43,

44,

45.

40.

47.

48.

49,

50.

51.

~2

(19)

‘T 3fa aviea SR fRg 7

(A) T (B) ZiEl
() g (D) 7ol
mm:ﬁ:mz?

(A) 9 (B) =
() 4q D) 9
313:"43‘%—

(A) SASHTH (B) &
(C) 399 (D) Hrda:

“agtn 35wt e 7 " g S ST o
(A) TgId: ¥& HAafd: 373 SAFaa |
(B) Trgufay T TAmIfa: mEmTee |
(C) TEIfeHT Hg B ImEnTaar |

Fas
(D) g9 g AT ETTS | r:ﬁile
Tanfyd genfirpen weafmin g :

et e et |

(A) T s gpeafd | (B) T sveurq speafa |
(C) firn e peafa | (D) T o peafa |
TR o g9 ATeRIfiE S |
(A) T T (B) W 9= W
(C) =1 == TeAfd (D) T T TEAIH
TET: T 1 3o WEIfEd ue Hunvd |
(A) Y (B) =&
(C) &= (D) =
ferrnsay | fraawem g %4 |
(A) ATTSSid (B) ¥d
(C) T=Bfd (D) Ffd
“TgerE SR 3t # i Tt ¢
(A) wHETERfafos (B) ammHATHAfafin
(C) wenafafery (D) amareATraRm
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53.

54,

55.

36.

37.

38.

59.

60,

(20)
(A) TerEm (B) UISFISHT
(C) ferm: (D) AfSrsiomy
HEHAITST ThIET G i Hiver 7
(A) I (B) =it
(C) 194 (D) <3

A

TEpafienTe yeayAy %: gieTn: ?
(A) TIHIE: (B) A=Y
(C) wfasfa: (D) w@fi-afieme:
TEATEAR AT Sfafiny wrereRTtaTen: whE: %3 e ¢
(A) fafgardemam (B) Titfigsradiemamy
(C) wrEfTeRTiETaT (D) TEATiETETy
TR & HHEg: AT —
(A) e fagr: (B) Teramsfierarn: fagrma:
(C) %9: figr=: (D) foagies fugr:
AT : 99T 9y At —
(A) Tdiem (B) IgrEwng
) fram: (D) ufterumg
T smafiresfiren shoemfa -
(A) &g (B) &vm
(C) ar=q (D) 9d1q

AaayeaTg frers gereTd forg wafa 7

(A) TaqalieETy (B)  sITSoTy

(C) =FH (D) dreTHq

A a7 seator faut wmfze grmmfe -

(A) qeT (B) HETEUR
(C) ohag (D) ey
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(©) & B wb(A)

P = = -~ -
LT AN e LS5 Gl S el il =g

Sesrd A (D) Ul

>
g lnk§ AL L

A (D) oy
2 (D) R
S D) S

L 3G iy (D) L~

(€) geld B SEuEFS A

?UE,CS’.AE-’L ué:“jn
(B) ST EN

(D) L;fLEr f=l (©)
fo U Sl st

(©) fu B Jb (A)
T e

(©) /i (B ARCY
et AU e A

(©) Sei (B) U
AL u’f/i;ﬂ' ¢ Lk

(C) L=t (B) L& (A
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31.

32,

33.

34,

35.

(25)

g - 11
19T - 1
et
% 30 gard nfe
TS gITe 0T TEG Sfee |
afeat ot vt Tsaa garat s stare foran (qart 31 & 35) -
oAl A TER U0 @ =9 4 “ufEs eyt gig | Fratfen fem @ gag S ok e @er gon
| arrer gara fafy o awht foa ot afeen anfefs, & wea 2t wve <t <99 T o
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&l A Hie, Hiad =T —

(A) T AT 5 TeR © (B) ¥ S TR, (0 &©
(C) ipmuigh @ (D) He| T Q

TEEMi R Ey i E4E
(A) TR (B) Ts™ El'%‘?
(C) Wiy (D) TSR

afd et it T 318

(A) T4l (B) U=

(C) T (D) @

Sftt 4 g SR foawa amg

(A) Tawd aad (B) fuwa frpen

(C) fawa s1edt (D) fawa st

Y gepreiet foT’ geaets Sf 71 3778

(A) g ang o (B) 9 9

(C) Sstardt framy (D) Heg

https://www.pygonline.com


https://www.pyqonline.com/

36.

37.

38.

39.

40,

41,

42,

43.

44,

PL-

(26)

Tt T ARk S ST snfe -
() wrafs ()  anfem
(2) IEHD (i) Ty
(3) b (iii) @
(4) 4 (iv) T

MH @ @ @
(A (v) (1) (1) (i)
B) (i) (i) () (V)
(©) Gy () av) - () E5E
(D) (@) (1) vy (i) E%ﬁ
FRERLECEES
(A) enfces (B) wAE
(C) w&Ft (D) @
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(A) IR W13 H == wiers (B) =iel fogl g o
(C) UYTpal i fai (D) 9R @ gt W
o wifg a2
(A) ST (B) FW
(C) Torras (D) Hfetht
Hifaa g i fadfiar 1§ gara s gfen de snfafa
(A) FIHR (B) el &ets
(C) 3T g4 (D) i< A
1 ferepra 5t arg wiad forarsra a2
(A) gum (B) TegrEu
(C) formm (D) T
TS TG S I g —
(A) fegamdt (B) H=IH
(C) wefig (D) Hsirhl
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(A) gt Sft o (B) W
(C) arh A Frm (D) &% frer sft Famrfh
T U 9 © frem fasfia s o o omg -
(A) SHHHETAT (B) SHTAT
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46,

47,
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(A) & (B)
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SECTION - 111
LANGUAGE - 11
ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.,

Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages

(D) teach the lesson of equality between cultures

Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these 1s not a challenge of teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None E”EI
. . . .. [T

Written Tests and Examinations are not meant to test :

(A) Vocabulary (B) Translation

(C) Pronunciation (D) Composition

The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom

(C) Thompson (D) Wyatt

Read the following passage and answer the Question Nos. 66-70 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water), A
generator converts this mechanical power into electricity.

" may be an appropriate title for the given extract.
(A) Kinetic energy (B) Electricity
(C) Generator (D)  Wind energy

Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 67-68)

Wind is used to generate mechanical power electricity. (According to the
passage)

(A) either—or (B) but—also

(C) neither — nor (D) so-as
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~ Turbines  generators are used to convert energy. (According to the passage)
(A) neither —nor (B) both —and

(C) but-also (D) as—as

A generator with turbines __ mechanical power into electricity.

Choose appropriate verb to fill the blank :

(A) convert (B) have converted

(C) converts (D) are converting

Mechanical energy and electric energy ~ the different forms of energy.
Choose the correct option to fill the blank :

(A) are (B) s

(C) have been (DY  was

Read the following stanza and answer the questions : (Q. Nos, 71-72)

We have no time to stand and stare 7
No time to stand beneath the boughs.

And stare as long as sheep or cows. ﬁ%’?
Choose the correct thyme scheme in the above stanza : (=i
(A) abcd (B) abba

(C) aabb (D) baba

Which literary device is used in the second and third lines of the stanza ?

(A) Alliteration (B) Simile

(C) Metaphor (D) Personification

[n Saxon strength that abbey frowned.

Which figure of speech is used in the above line 7

(A) Metaphor (B) Simile
(C) Personification (D) Epigram

[ must confess that it my quest, [ felt depressed and restless.
Which figure of speech is used in the above line ?

(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

Thy soul was like a star, and dwelt apart.
Choose the correct option of the figure of speech which is used in the above line :

(A) Personification (B) Metaphor

(C) Pun (D) Simile

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 76 & 77 :
[ swim across the river when [ was young. (ability)

(A) can (B) may

(C) could (D)  might

[ thought he be at home. (possibility)

(A) might (B) may

(C) can (D) will
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Prohibition is “gall and wormwood” to distiller.

Here *gall and wormwood’ means :

(A) helpful (B) hateful
(C) hopeful (D)  wonderful
He *stood his ground’ against adversary.

Here *stood his ground” means :

(A) stand still (B) did not fall
(C) maintained his position (D) maintained his game
Petrarchan Sonnet is also known as :
(A) English Sonnent (B) Italian Sonnet
(C) French Sonnet (D) Shakespearean Sonnet
Plosives consonants are ;
(A) [p.b,td| (B) [tld&s
(C) |myn, ] (D) |[f,v,0,2
1w0h 12 nalat: v " P 9 22
Which is palatal consonant ? E%%
(A) |h (B) 19| Ol
< i (D) 1]
The phonetic symbol for underlined letter in the word “tile” is :
(A) |er] (B) |or|
(C) |AI (D) |arn|
Phonetic transcription for the word *hang’ is :
(A) |heing (B) | hean |
(C) |heng | (D) |haig|
Phonetic transcription for the word “jester” is :
(A) | dzesta(r) (B) | jesta(r) |
(C) | dgersta(r) | (D) | jelsta(r) |
Which one of these is not related to passive vocabulary ?
(A) words are recognized.
(B) words are understood.
(C) words are often used in speaking and writing.
(D) words are never used in speaking and writing.
Motivation is a process of :
(A) arousing interest (B) maintaining interest
(C) controlling interest (D) all of these
Communicative approach to English teaching means :
(A) Informal approach (B) Group competence
(C) Communicative competence (D) Communicative appearance
How many components are essential in the process of communication ?
(A) 3 (B) 2
(C) 4 (D) 5
The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan
(C) England and America (D) China and Japan

https://www.pygonline.com


https://www.pyqonline.com/

61.

62.

63.

64.

65.

(44) PL-

QUg - 111
HIET - 11
AP
3 e s |l |
| 9T GHIEEn: |

T SATEAT, UM A - argl: 9 991 wai< —
(A) CTRRICHRI: (B) Tiemuremsnr:
(C) AfcreTeeTere: (D) wgfasheaTens:

TR T T we —
(A) Toregerromy aféfes -ammfsereatgamy
(B) Toragehromi ﬂTﬁﬁH?—HHﬁ-Mamuzmui

(C) SETON IR - AR

(D) ST ATfeh - TR EaUHTH ,@%@,
[ofild

FEHAMTYIINTE! FeH Wbt o —

(A) #rer, (B) S

(C) wmITeug (D) &@Iq

WEAHT 3eh faereut: §ai=d | adignefi vy fasey arger femifa | alamn: s &: ?

(A) FEuersys: (B) gfashoauen:

(C) TAHBIHRR; (D)  HATTALTHRIHI;

STARICHeh (91877 38evaafed —

(A) TepUTEEsRmTETIES T

(B) el HIfEahiverm

(C) ST =T ST e
(D) TemTcEsEmiaT=1 et ~gamithrs feom

frfetiaes sled e ATt Y (66-70) THISAT: -

forra: Forerpae: a1 ifeq | o= Targw garuney: fasmafa | wftamen: TwmE Haf |

H: Tegl FFAN qer: Webded Tl | B: TEM Fe @a TiwHEE AR Ser |
JeTEAR | T TR T YeIqavT 9 Jd | 6T g g |

https://www.pygonline.com


https://www.pyqonline.com/

PL-

66.

67.

68.

69,

70.

71,

72,

“yerqau” gead HHTH: B 7

(A) wgsitfe:
(C) HHITE:

el 373 9N ToaITE W —
(A) %+
(C) Pd+d

“arrrary” $oda o faufa: ¢
(A) dedt
(C) HaHl

‘Idreafd’ g 3o ifdd —
(A) 99
() 3

(45)

(B) ZregdivmeE:
(D) dcges:

(B) &+
(D) % + Fl

(B) uEi
(D) fedn o
e

e
5

(B) 34, W

13

(D)

“fergarny: prerREeh: 1M if |7 e ar sremaTenfa -

(A) W:
(C) fE

(B) g
(D) ey

reifeiiad veliery FTaTighed =R (71 —75) So1: HHTeR: —

we: auii 4 fa 34 38,

b o 32 spafer e |

T T R g

foremy oy A 9 f& g 1

“gavl:" 3o TAH: : ?

(A) deqes:
(C) &=

“ap.” e e i —
(A) FUIH:
(C) FI-T:

https://www.pygonline.com


https://www.pyqonline.com/

73.

74,

75.

76.

17,

78.

79.

80.

81.

(46) PL-2

ITF-TeTreh Beed: 7 foRy 7

(A) IATH: (B) s=adl

(C) Izasn (D) <9I

“Forerg o & fa " s Frdoma, e —

(A) ey (B) T

(C) FHomg (D)

“I%." 3o foagwafea -

(A) iy (B) TIHHICTEA

(C) dYfeasa (D) welfergyq

“73" g TE vEhd fored -

(A) FIEld: (B) FaEafd:

(C) Favgwfa: (D) Froafa:

“6:10" T Twa forad —

(A) HHvgaETy (B) guiftrrugareTy
(C) TUENgaTeTy (D) genfteRy ATy
ARV Y- SeTgl avii: Jaf=d —

(A) ey (B) B3Y -
(C) w9d (D) "ed¥ %‘%}3

“H Wt THE T8 T8 HE |7 S A HEhAIaTe $ed —
(A) 318 shifecen owe 3 Jeanfy | (B) 378 shifecen gma: 7 qenfy |
(C) 318 shifgean a9 78 7 HUMH | (D) 318 shisd TH3 9 hivenfy |

“ueh Tm U feeft 3 a9 %0 & fon v aer @ |7
O TR HEHATIATE o —

(A) a1 UF: foeliv: a5 e Uy sAvad gHie |

(B) Ushel TN feefia: asiehyy wehnvd qafd |

(C) WWWWWWWWWI

(D) e T feeia: a5 wg U 21vd qEid |

“a" eI AU IR 3T —
(A) wai (B) &=
(C) T (D) 3

https://www.pygonline.com


https://www.pyqonline.com/

83.

84.

85.

86.

87.

88.

89.

90.

(47)
“Svat; e el |7 3o g arediEd $d —
(A) SYaU0 Ud TEa | (B) STaivT He T&3d |
(C) $9ar: T & | (D) Sy waly = |
“T =g TR | Soud AT T —
(A) WA T35 99 | (B) AT I g9 |
(C) T & 39 | (D) & T T |

“O F T o 91 |7 3o aTa S —

(A) T U o 9 | (B) W& A U= o I |

(C) W9 T U=rafa a9 oy | (D) HaT A U=rfd o areey |
“IerEfEE g ... Ferasy | o ferftaayer: aqfuae feaen wed -
(A) 3dd (B) e

(C) =g (D) =g

TEhAHIIINERE FIAE hHe o FHGHaR YRRl yuHd wafd —
(A) ARV (B)  deHTcHBIR—ITH -
(C) Hifigwsrea (D) g 5&‘"
“AT ST STEATTRT, |1 T i |7 gead ey fafide -
(A) wafafy: (B) ferverurensfafer:

(C) =rEfafy: (D) SATHTTY:
FERATATS! - e gmmfeE -

(A) == (B) 353y

(C) de 1 (D) HeATETH
dfcentaeT-Tgdisiu graarea=mn g2t %Y fafed: -

(A) TGHATEIRMT SFT0 (B)  TRRHTAHRION TAMT0]

(C) WeIageuTE (D) arerway faferfaart et s
Qifereh YT TEpATel HraEmied —

(A) FoEYY (B) STy

(C) TR (D) Terameaey s=rEnaam

https://www.pygonline.com


https://www.pyqonline.com/

PL-2 (48)
-l
- ghJ
»
221
S nAelr L ey i £ L ety GO Lt T
el onbdie Lo L v,

< b e ol 2F

§% (B) FEE (A
Jip vt (D) =6 dF (©
o g GFTE sk oy

éi,v (B) 2kl (A)
vl (D) JF ()

w b Gl g i Lo U e
..‘LUIy'L.SL%‘"'I/?/ (B) Jﬂ-ﬂﬂ (A)
Lfé!(é— Sl (D) /-55 (€)

- - . i, -~ L, . ow
c L SARtE AL e S & Lid e S5 e

2 0 (B) 2 PGF (A
2/ G (D) 348 ©

o bl YUt L3 b e Koo Fle

i

EIu#® (B) SF
S (D) Soderttn (C)

https://www.pygonline.com

.61

62

.63

.64

.65


https://www.pyqonline.com/

PL-2 (49) D
12 L0k 66) =ity & s Loy S L
,,/f... iy St e AL AT iz 2l & iy
‘bbg ,,&.Vf";.[. _UL./JLL!K»_.-'L.Uﬂg'L_FJH_.JJ Fy'uﬁf_f/,fmr
S E’fcc‘_L,U S F’(_:_ T oSt o/ I el o
b Tl § LA L Ui s S e b2y e 30T
Ll i30S J_..f{._' e bl L el o o el LL#')/L.J”/ 2 i Sl 93

ey w,)rul/f_./y Gty & ay

IV LS e 6 66

B 109 (B) B&a (A)

“E\
“ )
Tt
]
LT

(D) Vniid /S e Fos (O)

e vz e JTguu o™ 67
- Cﬁfﬁ 3'(1..5{‘: e Yl (A)
e el ool B)
o 1/ & G e wl ol (©)
T 2ar (D)

o M7 AL P e 68
A (D) =t (©) ~F(B) 2k (A)

S s 69
S ) v, (© St B @)

GSE L 0
=LV (D) iz (0 LI (B) 575 (A)

https://www.pygonline.com


https://www.pyqonline.com/

PL-2 (50) D

Zra LG5t et L s Loy L e

WGy e S kot
.,_,:-3!} ij Jz L = p J}L ur L,':’:"-G f;.r
by G f L U I R Y
ié_xﬁ,;u:u,/;: é‘j_,j!@,bw}f
Gl o e Ly Gl Ay T

fﬁstf&ﬁ

fd’vtg- =z u(ua’e;

?L’E‘ ul)/J’lL;i KEU[‘, s Tl
S Sl (D) 3Z P (©) mfe SF (B) orEl (A)

oty o § x5 N R T
K & (© g ® S (A)

L .:.fl,br'; 73

J=¥ ) SLes © Sezo1 B RTINS
oy pusE
i:’_ﬁi,;ﬁus/c:

%
J (D) £ () < (B) e (A)

o HIFEURTs 75
‘6. (D) dsls (C) M (B) B (A)

ERSIR Y g ¢
s LT E el (B) Fofey (A)
LS (D) 2 b (©

https://www.pygonline.com


https://www.pyqonline.com/

PL-2

4

(D) vl
(D) Sl
(D) jese

- » r I ]
LL_«“;_,-‘.'G’} d;f,‘

W5 U it £

(D) S
(D) e[l
O+t
0 +d2

(1)
b,l:ﬂ "'!.FL-
(©) =& 1 (B) e (A)

FYRE

d'—J:Lﬂvl :u.f}g e St KJJa:a_Fy'JfK

(C) ~tL (B) Iy

r -
Fasly 27

(C) L& (B Sbd (A)
6"—LJ:{ [--f/"kfv

(B) A6usr £ L e (A)

(D) k5 ELGR E (O
c»__.w,?w» :-_L"u’_,v.lﬁ”

(©) J#  (B) Fi (A
< e 1 (—)

(C) L (B) = (A)

e VTR a2 e &L uFny J—l?”’

(B) FL W
(D) 3 ©

fe l_"--"..f,:g_,‘; il L o[% sl
STsmre o Ui 2 olind (A

e WL Tid (B)

e Gl K-J:?.-I.:}r;;',w=m“£5r;;¢rg;,;;i' (C)

-

S0 2ike (D)

https://www.pygonline.com

a7

8

79

80

81

‘82

84


https://www.pyqonline.com/

PL-2

F s (D)

L.e"

/I bu; v

e 3

Su

(52)
PR AL I AR TR I
Ly (© By (B) SZ K (A)
o wlo YF L i Sl s
FeyadEe) (B) g e sl (A)
S zer (D) b Feins ()

< 3 /7 B’:’_f";,'}:(u::‘l;; u(.;ik

S FEagh e B &

JEJs Kkl det (B

e GO e L G L Sy (O

b o (D)

Y l:':fﬂ:)’._gu;'lﬁb"ﬁ sk e S

(D) <7 (C) ~U3  (B) JF (A

e w1 S e T
LB Kl st sl Sl (A)
sy T2 e by g e s (B)
Lo Wor A ST T ST (O

U e UL 2 (D)

te b & il s L o 235 81 A U (Plan) G4z -2 5Y
Sird ey (B)

Sk 3 (D)

Sa o2l (A)

S 2l (C)

https://www.pygonline.com

.86

87

.88

89

90


https://www.pyqonline.com/

PL-

62.

63.

64.

65.

(33)

Wug - 111

HTST - 1
faeft
Fcl 30 Hare Tt
S GaTe O e 3R |
“gu®’ A A AT o AR —
(A) Hhd (B) el
(C) @ (D) S
T © FIrE 1 F=iv1 @i ufesd arfao @
(A) gt gt (B) 918 A5
() =9 fie (D) R

i o feaor O g a7 St wfsha oft dfed snfef -
(A) Tegor U guo anf wreaf S sewre o

(B) gw%mmﬁﬁgﬁmaﬂi 4
(C) feuo 3 gremfy S s =i e
(D) Temafa S fgmur o

gfsafs i Fifaemeda 3mg -

(A) Teparree s=m (B) AT 3TEm
(C) 3T Bfdg (D) e Hred

R ¥ e W S A Hig U W U1 01 o AT W el 19T T
(A) Irf & wrdifees g g8

(B) arf @ reft g5 28

(C) I3 <f orre it feft w3 Freemra O ofaeaes el =i
(D) R 3 gl @ frerm =

https://www.pygonline.com


https://www.pyqonline.com/

D (54) PL-

g gfentt wét fgen wemerfy s v feat (gamer 66 @i 70) -

I fae wenrtelt feveh o wrft faes <t wedl a2 U & fowh UM 91 Wy 2 3T @ e gy
], Fe 1 W1 P a8 ol frarer oy 2 9 “HE A U § 9§ W e d gfat fefa o quer
are fradt 30 gaad avdl € fae fau gig fsom o w2 @ vzd 12 & | w3 s & g wifema @
@iy mifes €131 312 4 Sifd @ S a1 AfE @ ufEsh oy fafaan == O gg Fat 39 S g At o
T 13 511 9T A 4 31 4 fgu @ <hist 3wy #1 v 33 uiEs e Wi # fa en @ fgu i U fgm A
st aia sl oft sirer St iféS we i gewa 3ne @ 531 ufde 7, wq, uq fa nuisfy afes w5 |
fafa St aféS g @i qgaa ame @ ufss g wifor frmi-fral @ afeny wefs war @ & frem Sh
dferelis @ 7 aftelis =t awafa ar | f5f @ e a1 gea ang fafy an Sfau avfiash g 4 fire 88
weig feran anfef dféent wgan @ <if afe Uy sz «fd afe ay ww snfef 9n 4 wg e Ha g
@ Tt et S et wifna @ f gat s w3 € i fgfa | o qedfter 1§ i wfefamsty
a wrerm wiveft frftar 3 o g g srdte w fo amed ym S A St fs s T ganfer am fa
= &Y forit <121 | 381 S 1 el A1 1 F 1 werg W A e wh | Afewa 3 om S A, faf
St ot s |

66. wfrd 2R S fert 3T —

(A) figed (B) ity

(C) uq (D) 3T
67. ‘% T U URTH St AT T8 —

(A) guAHE (B) gie d ufearse

(C) % T =i g firet el (D) e dm a3l
68. e @ I 3R dfd @ ufgsh faftren o=t |

(A) "9 (B) i i

(C) @ (D) *F sl
69. ‘G Sft W WA A WA 3R —

(A) eard (B) g weerel

(C) FaH (D) Fd

70. (i) R0 TS et S e soga U A |
(i) o ar T @ frehtar u Sl s |

(A) (i) %@l (ii) TeTd (B) (i) TTeTa (ii) W&t

(C) (i) ®al (i) w&t (D) (i) T (i) erd
71. ﬁ%ﬁaqﬁéaﬁ‘z'm@mgm%&ﬁ—

(A) @ (B) 3

c) # (D) ¥

https://www.pygonline.com


https://www.pyqonline.com/

Pl

72,

73.

74.

75.

76.

77,

78.

79.

80.

~2

(35)

‘gian’ @ forama am -

fiem

TSI T Tt 98v1 @18
il f siféres awehiar st oo wrg

el
4al

ElERCR: CIRCICIRELY

(A) ¥ 31 (B)
(C) sHHA (D)
“afe § wfest a1 groEat | frera amg -

(A) gﬂ (B)
(C) &P fFer (D)
“gHTE T3 S =av] ufers |” firmmer amg -

(A) ¥ wHH (B) M
(C) W adis (D) W
BRI MO0 | ERh] T HiE -
(A) Tiferd (B)
(C) gt (D)
(A) SHHRH (B)
(C) FdhrE (D)
e a1 Mgl d98 g I A fa |7

(A) 99 (B)
(C) TS (D)
HeATEA St SisRar MMEH @18 wrEeHg 318 —
(A) @IS diaTo St S S (B)
(C) HTHVT it ST eTg (D)
TR S R e G 3 —

(A) =HIZ (B)
(C) =HHA (D)
I GR<E Ja1 38 Sl —

(A) IR @ faaar gEnr (B)
(C) 9rf @ men wue (D)

grf sh wid &t

M : 23 feer Sfaar @ vt garet (81 @1 85) a8 Sraner fga |
ufeft mq @R 7 fuetdl am, fea el nfe nfe ofidt an
efft aror i gt o it o1 wefa gw g oid an
@uft gy i frmgh 4, 3r=h g anfaan ughi 4,

ool Wit o @ 9gf ¥ foa qfesh safe offd an
It a e oft <hia afgf, $u e 1=t o F afegfa
B s Wl FESIH BIeTd H, Tauee wme ofidt o !
Theih AR B ST 31T, HTHR @M Tgd get 2,

T I3 A fafersit 311, F21 g femn U oid) 3

https://www.pygonline.com


https://www.pyqonline.com/

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

(56)
Fiear S T 3778 —
(A) e (B) feerfie
(C) @™ (D) <%
Hig' AW Sf A 3T —
(A) «@r® (B) fuwre
(C) AftRa (D) TTEHt
TR Gl Tt 3
(A) =rad (B) T=d
(C) WgTa (D) SATed
‘aq TE S 7ee 93 offel -
(A) T (B) W1
(C) =a (D) wfe E4
=
G fargret 18 —
(A) &b ollg (B) @dr«g
(C) BT (D) Beoig
1853 0 fasft afafr € fo=i’ < < forame ofwan -
(A) WeHel Hgtag A1 (B) F<Hm Segmitat s
(C) dTeTae AW gmel < (D) THMHE T o1
faedt smetiar S o wifeat o= o —
(A) ISt HIeA (B) TME Iegel oIdi®
(C) H=e THE (D) @
Sitar gl AT s S framfy o foreht 9& s e ah S gafers fereht S
TR —
(A) Hed (B) forea
(C) BaH (D) Srwa
Sifg 3 ATE A1 A, I &S Bl hal ATE —
(A) Tt (B) =femft
(C) Tz (D) =f
‘FHe S R AT FHAATg T TR
(A) WRH (B) g #
(C) =TyerEftar (D) THH

https://www.pygonline.com

PL-


https://www.pyqonline.com/

PL-2 (57)
ua- 111
Eciell|
Ut
R Y3 fS9 d8 30 YR I3 |
"3 YHE Jd& 7gdl I6 |
61. FH uiffteius W 799 fefomrading § I3my wee’ ug8e 98 37 Bas  ufas™ 3 o wee,
J9, d&, iy, 99 »rfe § »rag ger@e vrfter 7 | — feg Bevaas fam 95 B39 28 Haz godt

I?

(A) FEINEAESIB (B) yIas3Ininds

(C) nIHs 3 faaHs =8 (D) Hafefomifaa 3 sdfaa =
62. IS faRHEAT:

(A) JFITe (B) =333 99¢

(C) FHIrsaardt Ide (D) IEITB I
63. Y& EIH:

(A) nidt, mide w3 938 TR oA T | i

(B) A, nimime w3 rgs 3 it T g‘gﬁ

(C)  nidft, Wimime w3 998 T T T |
(D) At mime w2 73S I AT T |

64. afLITUs, wigw §u, B U wirfe faadt Yifemr 2 viaras |
(A) 95 Z0s Ffifepar (B) Hegzmdu <thfifanr
(C) wu==gt fams dtftfamr (D) yE-RHIF 2 famrs < fifaar

65. fag3 ¥v ygaT-fove adf Aew G © fesg § vz = faudt yaiae fedl = y&ar
Fgefead ?

(A) =A3fors L (B) yHe=dl
(C) féafe@ (D) ez faafus ifemr

(66-70) IS T U3 SUg I AT B E83 66 3 70 A2 G379 o€

WaY € fegrgt &t vgre OF ¥ oz ugs & ot 3 & it v maet T fabfa fig aet fasm
W& & Ao it 7, €8 ¢t fagre »medts, S99, aw-8am€ 3 wat f&u afog uge =&t 3 3
wifrdft fazmg U e A9 oifls 2uft 9 1 Uy fom 2 oa9 o9 996 AW § 7Y 92 3t usd 2
AGHY It J | »ifadt 5967 WaY € 37T § e Haet J o3 WY & »3H YT § 98276 aaet J, TH
AT HAY Wad WHSE AHE 'S 25 fHinfgT @ feal Age J97 7 | 418 o5 <9 =y it fagw
{&yz 28 v g9yd Af3ad Ifam™ 92 Ha |
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66. ‘I T ieadimaeJ:
(A) fagdt (B) fuaadt
(C) I=€ (D) ot

67. MAZA ST A gt HES T
(A) ¥odg (B) ¥2H

=

(C) g5dt= (D) w¥sR

68. ‘JII’ HEC T HI-MITIHIL J ;
(A) vHguAdt (B) wa= -
© = o ow

09. ‘ISITE WYY T AHEIEE He 9 :
(A) 3IE3<d, dd=d (B) 3Id3=9, 788!
(C) 3329, HITH (D) 939, §EHT

70, ‘B HEY O {5a 998
(A) HIH (B) T+
(C) RHIe (D) qet

(71-75) Je e qfe-de gy a AT S oua 713 75332 €39 1@ : -
a1 fde Uamg g7 e Sar,
92 yaaTt a7 gt &t |
WA I HIAT 3T HS U=,
Wt uTEH & Fart Hidhart 21
It f3are A& wigdht & |
e fag aniz Fardnfi &t |

71. Gazafe-devrged:

(A) W& (B) fewd?
(C) fradst (D) &3

72. Gazafe-deTrand:
(A) W3IH (B) =g3IH
(C) ddesTdH (D) fHergan
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82,

83.

(59)
Saz afe-dewrafe-qud:
(A) W& (B) Ha&HT
(C) =9 (D) wW¥e
‘I IS TTE J
(A) <Ie (B) fagust
(C) w98 (D) =99
gt f3are v wardhnt &1 3a f&9 wie mae sfardim® or Saei mdeg T :
(A) e ot Sadtn (B) =t it Udnrt
(C) waoeg (D) dJe

nfg y fygdt, 9979 3 TR vy o W ft wige 9E
(A) FefaRTTEUS §U3 I UT TR UL |
(B) v farn ¥ I8 Y8 uie I8 Yg TH UIe |

(C) wafah S JaUB &5 Ii U3 7 593 | E%%
(D) TEfaRITE a3 ISH A3 | d
Uareft 2 fugd reg faa3 98 2

A) 6,6 (B) ©,€

(C) &, (D) i
Hofuzrdfis=zuafds  Iame Ay v AT fonr | (€427 Ho'=a" 93d @9 YJ' aJ)
(A) we (B) 3§

(C) UHI=E= (D) UgdAne

S fanias 9 ;

(A) ¥ (By ®

C) = (D) =

v | G5 fdat Gt es vt 1

SuTas T T YEaJ:

(A) YHEIEI Td (B) &JT9d T
(C) femHE9aaw (D) wrfamread =g
- adtdtfie-asd

(A) FHJI B YFET (B) wwet Sfuga
(C) 3% (D) &9
wfzqeats Afqoraierd:

(A) IH3ET (B) faws

(C) wifs@adt (D) JE&
forea IR T ATE =9

(A) €3u9 (B) o

(C) fonraazT (D) du
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85.

86.

87.

88.

89.

90.

(60) PL-2
78 3 ufgd niftrsua e9 9
(A) wRTdt e (B) gadtdize
(C) WsIIEITg (D) wgdteg

et g &9 fanm wae &t =93 fagdh gus=i sat gt T 7
(A) ye faazisa ggar< Bet (B) gIHT BTt

(C) afene! fea33d gea= Bl (D) dI2 fgd373d Juae BEl

(A) wifgemud (B) fefamrfea
) [OP90]
(C) HIYIH (D) wym3a E%fg_

He witmya 573 1 3, Bg™, 39 I WO S aud lRe gy A g furFer T 3§99
whefgs I fiye 96 | 37 B faa fifimr fruis St =a3ag faor der a

(A) wifgwmH o7 fg'3 (B) ¥8-dag3 @ fHO3

(C) 8933 (D) "3z U3

3T, fimrg, Slowr, fie™, farasr, mragwfe e ge AHgs S g SSuAafed dusJ:
(A) HSEIHS (B) fouzaws
(C) v NG (D) Y33 IT& AHS

g fifftor 189 85 fouz 9F W9 © Hos=uds Ben ffg mHs &1 T
(A) Hfon 139 fors 578 Aes &t vimes feans aaat |

(B) ardt, Aoz I mimes os foys 2 s feaws gaa7 |

(C) feforradt fema fog’ <t =a3 agsr & fitge |

(D) ¥9¥ds, »y 375 feds fafmrifis afde a5 |

& fafipyr aus fan fiffir mazdt er g

“niftmirya & feg Jaft 27 AHs S ardler J fa §a gehn fee =ras <1 re 3 =dh fedt 7
295 T T | HE el 49T 98 iy der 9 37 foge &8 fder J | fow 397 A< 99 Ha us 189
folazrofrsag 8o T, I ERusHAnraz ez fdea 1”

(A) Seswes (B) 9Eg

(C) w3 (D) #.6.96s
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W — I11
ML - 11
eyl
L ASHLSE 30 WAL 6.
€35 UL vellol 2L 53 [P 65,

61. [0t usR-A WAL HUELER S M2 Sl USERAUUHIAL 22UAL SRAH UL S 7

(A) ilsausir (B) HELUSR
(C) 251 Gk UsIR (D) SBLUsER
62.  A85L oAl sAUZIHL AR 58 W45 5UZIAL AL 2L 20 ¢
(A) Yl Mssi suizl (B)  2qul yom 5212l
(C)  AYse Yo sl (D) Aza Y™ sull
63. AL SIUCH HI2-U HEUiS-L §H HIMESHL 21112l 51 2SIl UM 2 85 7
(A) Y3l (B) a24scll
(GEETEACHI (D) Ygadl

64. o4z o-tiacdl i ARl 56 oot QAL A 0RAN A S 7
(A)  Sil, 2ABRL 2 WA, (B)  [Auadrd, dqil i WAL Uslz,
(C) WAL USIR, [vaazd 2 [@ael (D) [Auaazd, dqail 2 [@sBis
65. ARzl 2Azyg BRI NA SIE s WRLRS sRELVRUAL
(A) WS W™ (B) &8y
(C) sl (D) =i

120 2AMEL INZULIA PAHE U $HIS 66 2l 68 Bz el :

YactsiHl Hall WiAdlAL wa-elsazul HeraAl el eed 8. Bns sddi, “§ ARsHL el 1R
Yaetsl, 2aid s3l2L, SRS dHAML 2126l Ul 6 5 d ol et Al B 2L ol Rl
G54 ‘Unto The Last” YzasHizll 2uilag ucuztedl Mze Holl edl ol 244 oudoie val
YA LAl i disid Bad 2 Hizedl e Hodl 2EL 6. MREL, HSeURA B eldtdd
oyl A MR A5AA 251l AL HeTal L ALYl 5. 2 AL 212l 245 dlSL W2
URGUEIAS I3 ©.

https://www.pygonline.com


https://www.pyqonline.com/

D

66.

67.

68.

09,

70.

(62)

HirtellAL 2)AAUSARH Sl ADIEIA Hsc el & ¢

PL-2

(A) uulaq (B) [l

(C) Yzsiq, (D) uRezd

“liflzgl Acane-l Ul HOll edl.” asml U’ uce-l A4 2l wst,
(A) U + AS (B) ¥ + 22U

(C) U + At (D) e + 2L

2AME el 52 2lls 2ndl sty ¢
(A)  Wad UsctR HET (B) Mzetsl-l Hsll

(C) mauzel (D) sl

{12 AN LA AR MHSHIS 69 20l 701t Bz el :
ABlHL RAHL RHG, AR 1L A 1L

gl Bl 22t 2due Buz WL Gl
Ll AL L AL £ R

sl 24t WZLHL el 242 M A WA
YRR w218 % aasl,

AL Sl USRL, 241 HIEL AR WOl A WO
L Al AL, R2cRAL, oAELRAL 6lldl
sl 515 SI5HL 5047 WL A WAL

QAL DAL S B AS3L 5REL AATML
LA USTHL 518 SHUER HUL A HOL
Actrt-{l el Wie) ¢2l aG 2ula,

DR 2L UL UL BUER HOL A 1L

5[ 1ML 3] oL Al U 53 65

(A) Lz (B) ¢l wel
(C) Wil skl (D) sl UL
i slAcA 2 2llis 52 2l wsi 7

(A) adt-Alyn (B) HOL-AHAL
(C) M4 PR (D) Sl 2831
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71,

74.

76.

77.

78.

79.

80.

(63)
el ollell, ‘A vz WA S 17 Al SULUSRAL A E ¢
(A) &5 U™ (B) A& U™
(C) MBUARLS AdAH (D) 2AUUS UdAH
‘OLUiR 215 HIZ (5121 5013 8. sl Al HHEsIR 65 7
(A) 3us BHEBR (B) Gl a5z
(C) BuMLiesR (D) <dldzs wesR

‘o U UACI A 5UL $56, LTARVLE ¥

(A) HELsldL (B) el 50
() Rzl (D) kel EJ%E
‘G AU ollEl A 5L UsRAL Bl s 9

(A)  =Ulds Bulazme (B) zamncis [Bulauve
(C)  ddas aulaia (D) UHAUAs Bzl
‘A AL sigh IRl 77 AL S USIRA HAAYS B 9

(A)  [Extaas (B) [seuas

(C) RenHars (D) £¥lddlus

‘Bl el e eldll.” sl s+ AsRaAL AR 55 & ¢
(A) A8l el ad dwal. (B) A2l (e ad dlH
(C) el (el e aqil. (D) A2l Aol 4 Al

(Al AL, S8 2006 dRE 2l WAL S @A UR GUR HEAHL Aoy sl Blod 39y s3al W2
Al2iAruiell s RagAdAl GuaiaL 2 6 ¢

(A) @R Rretl (B)  @teilERim Rag-l
(C) R Rl (D) ARl Rugr-l
‘o A 0L A BA USRS 7

(A)  dstel (B)  wsiel

(C) [A8ual (D) sHleL

A U061, UOEHUHEL S AUsAA MU 5IH 5l AU 3 5¢ 6 7
(A) 50 WAL e (B)  Gouril 2y
(C)  AUHALIL 2cu (D) [Baulame 2

‘Bl o6 ARAHRI s USRALES ¢
(A) dge (B)
(C) e (D) 2isueL-s

https://www.pygonline.com


https://www.pyqonline.com/

D

81.

82.

83.

84.

6.

87.

88.

89,

90.

(64)
AiAiel 56 Rigtel wgla [Henell sl e ¢
(A) A (B) gl
(C) Ardlszal (D) Wlovs?
[lzuell=AiAl seu-ailn [Asaiad W 8 UEM Hea3L o 6 ¢
(A) dlcls- (B) ou-d
(C) =M (D) A4t

15201 Rizterml Homd weld 12 ARzl 58 ototd 0= 65 7
(A) 2 dgld WElMs amss Gl 6.

(B) “drMiu2dl [Alae” ypil Gualow

(C) Rzl AL 2UsREAL 2RI, E%;q

(D) R8sz gt sl 2ud 8. (=l

Hiclld A5 oUNS S 65, DL 5l USIRAL LML E 9

(A)  [Baews eumy (B) zulees e

(C)  wauless ey (D) ssleiaAl eu

HIGEML [R1g101AL MU S 5201 6 ¢

(A)  »AuB (B)  Ao¥lcusdl

(C)  uasifs Gualor- (D) 4ol 2 WA
LAl ML Slell 1R 51 5L 9

(A)  BAQL, 523, G, - (B) 440l dlu-A, €, 581
(C) AR, 5%, A, AviA (D) S, WA, i, 5%
AlRArRA] 22~ A1 HEATL S HHIAL A

(A) 235183 (B) 2lasi

(C) s¥eR (D) BAMSRSM

Mg AR5l HURLA o Rl su e 7

(A) sl MELA SRel-AL (B)  2tE-uEL 2l Mzl
(C)  2gel diu wiz-l (D) MRLEUML USNAL HIZAL

PL-2

‘sl 21 56l e 8 Al AR U [ Aeeil sleulRizis-l woerdil s 21s et

e

(A)  UH~tell (B) st

(C) wALRla WA (D) Bt

Heuls Bisiurml el sieidml izl 56 218 olloid-l e 11 6
(A) &gl uglawil (B) ailéis vi-eiel

(C) Hels Ul (D) Ul ad ulad-
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SECTION-1V /@S -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and

IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

30 @Ue 1 g 3uEvs Ui 1V (a) it qur fasm wa 1V (b) smanfire rsw= € | gl SwaEveEl &
e A 60 Tgfeshedia T & |

qlieeff 1 [V (a) TR aen famm sraan 1V(b) amfes e, S gg= e smee-ua o
fepan 2, 1 & ot web v@vs 1 AT @ v Wt 60 T BT ST AT R |

SECTION-IV(a) / @US — [V(a)
MATHEMATICS AND SCIENCE / Tford aen fagm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

THEE U %A 60 59 2 | T anarfefai 3 5w faw 1 == fomen 2 32 @it wvA e arfem 2

91. The evaluation process is related to :

(A) Educational objectives (B) Ewvaluation method
(C) Leaming experience (D) All of these
UEATeRA STk dafed gt 2 -

(A) T 3wl | (B) Hoawhd wlafa @
(C) aferm agwa 3 (D) st

92. The purpose of diagnostic testing is :
(A) To guide learnming methods.
(B) Classitication of students according to difficulty level.
(C) Detecting lack of achievement in particular subject.
(D) All of these. E"EI
frermmens wem = 3299 & Eﬁ:‘ﬁ
(A) e ggfad o1 feam-fade s |
(B) hISATS T % SMET T BT =hi aTiiehTor AT |
(C) Tarw famry 5 3uafes < st w1 war o |

(D) Tt |
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93.

94,

96.

(66) PL-2

Which method follows the principle of a process of combining different statements or

parts to get something new ?

(A) Lecture method (B) Heuristic method

(C) Analytic method (D) Synthetic method

fopa fafe @ %55 731 Wi o % ford fafvr=r sl an et < w9 <6 wfen & fagma &

RISE G

(A) =rerd fafy (B) wftfeess fafy
(C) Taveram fafy (D) Gveru fafy
[f(\ﬁ)s x 92 = 3¥ x B\E, then the value of x is : E%%
(A) 4 (B) 5 B
) 6 (D) 7

afe (\V3) x 92 =3 x W\B3a, A HAAER

(A) 4 (B) 5

C) 6 (D) 7

| ]
If (.\' —:j = 8, then the value ot'(,v? + -_EJ is :

R\

(A) 64 (B) 68
(C) 66 (D) 4354
(v )-8 8, @ (2 4 w2

(A) 64 (B) 68
(C) 66 (D) 4354

The factor of {x* - (x — y)*} is :

(A) y(2x—y) (2x2 = 2xy + ¥2) (B)  y(2x +y) (232 + 2xy + y7)
(C) x(2x—y) (2% = 2xy — y?) (D) x(2x + y) (262 + 2xy + y7)
(X — (x— y)*} BITPHETE R :

(A) y(2x—-y) (2x% = 2xy + y?) (B)  y(2x+y) (2% + 2y + ¥7)
(C)  x(2x —y) (2% = 2xy — y°) (D) x(2x + y) (2 + 2xy + y7)
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97.

98.

99,

100.

101.

(67) D

The sum of two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is ;

(A) 44 (B) 80
(C) 36 (D) 40
<1 TRET3AT 1 AFT 22 2 3 396 I HI A 404 B, A 37 TEAISH B PEBA B
(A) 44 (B) 80
(C) 36 (D) 40

The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

(A) 2 (B) 6

Cy 5 (D) 4

g =an T e 1800 i 70T T W U QUi T HEA1 I g1, o 3Teh] &1 917 8

(A) 2 (B) 6 OP10
(C) 5 (D) 4 ik

| ] . . i
[f a sum of money becomes 20 of itself in 7 Yearata particular rate of simple interest, then

the annual rate of interest is :

(A) 5% (B) 7.5%

(C) 10% (DY 2%
ﬁmwmﬁ%ﬁﬁqamﬁaﬁﬁ aqq%raﬂi—é)g‘lam%, al =T <l anfies 8
(A) 5% (B 7.5%

(C) 10% (D) 2%

[n how many year(s) will ¥ 2,000 become ¥ 2,420 at 10% per annum compound interest ?
(A) 2 years (B) 1 year

(C) 3 years (D) ) 2% years _

10% anfies wsrafg s ot T 2,000 fopad ad 1 T 2,420 &1 S 2

(A) 27 (B) &

(C) 3 (D) 2% ad

[f the selling price of 7 articles is equal to the cost price of 6 articles, then what 1s the
percentage loss ?

9 2
(A) ?E% (B) I45%
(C) 13%% (D) None of these
afe 7 g3t 1 fosha goa, 6 T3t o 3 god o suat 81, at fonae wfawra aif gnft 2
(A) ?%% (B) 14%%
(€) 13%% (D) 3 & i3 4
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102. A bag contains ¥ 20, ¥ 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains ¥ 1,000 in
total, then the number of ¥ 5 notes is :
(A) 32 (B) 25
(C) 24 (D) 40
HAAT 20,310,353 :4:5HhAMPaaE | AR IATHA €T 1,000 8, AT 5
o el H TSR
(A) 32 (B) 25 E%‘%
(C) 24 (D) 40 et
103. If the sum of the numerator and denominator of a fraction is 55 and the value of the
fraction is % then the fraction is :
20 10
C i " N -] o l B
©) 39 (D) None of these
af et et s oo 3k g st 55 2 e e st 2, 4 ot 2
o 20 o 10
(A) 35 B 13
5 .
© 35 (D) 7 & IS T
104. If a ransversal intersects two parallel lines, then each pair of corresponding angles is :
(A) Half (B) Double
(C) Equal (D) None of these
afe uek foedes T <1 gt tnaii 6 ufasde H, dt H@rd BT 1 Yeds I g 2
(A) ™ (B) I
(C) = (D) 3T & IS T
105. The longest side in a nght-angled triangle 1s called :
(A) Hypotenuse (B) Perpendicular
(C) Base (D) All of these
auSHI S 1 eH @l o HEarnd @ ;
(A) i (B) @
(C) 3w (D) 3wt
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106. Ifin the given figure PSQR, then the value of ZQPS is :

(A) 36° (B) 90°
(C) 54° (D) 100°
afe fed 7 faar d PS|QR &1, a1 ZQPSHTAF R

(A) 36° (B) 90°
(C) 54° (D) 100°

107. The sum of all the interior angles of a pentagon is :

(A) 360° (B) 500°
(C) 450° (D) 540°
TS < T 37d: IV 6T A G :

(A) 360° (B) 500°
(C) 450° (D) 540°

108. The radius of a circle 15 6 cm and P 18 any point which 1s 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be
(A) 6cm (B 12cm
(C) 8cm (D) 10cm
WS GRne TR 2aw PR g A M FZ F 10 TR B | P T Iu W i T wwRaEn
6t erad antt
(A) 64 (B) 12
(C) 8§ (D) 104
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110.

112.
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In a right-angled triangle, if its sides are 15 ¢m and 8 cm perpendicular to each other, then
its perimeter will be

(A) 40cm (B) 38cm

(C) 46cm (D) 50cm

U qEsRv Eigs A, afg sueht e 15 d@Een iR 8 et Uk qut % ead &, al gHe
‘Tﬁqﬂﬁﬁrﬂ:

(A) 40 (B) 38 @t
(C) 46Tt (D) 50 Tt
The arithmetic mean of 1, 2, 3, 4, .... n numbers will be : ﬁ%ﬁ
. =]ty
n ]1_
(A) 3+1 (B)
n n-—1
© 3 D) =3
[,2,3.4,....n WA HI GH= H1E 87
n n-+ i
(A) 3+1 B) =
. n n— |
© 3 (D) =3

The difference between the upper himit and the lower limit of a class 1s called :

(A) Frequency (B) Mode

(C) Class size (D) None of these
fepett =t <t ot i aen f= i &1 3t SEeTal 2

(A) SFERAT (B) <gdh

(C) i (D) s & I e
The co-ordinates of the origin are :

(A) (1. 1) (B) (-1,0)

() 1,-1) (D) 0,0

(A) (1. 1) (B) (~1,0)

(C) 1L-1) (D) (0,0

https://www.pygonline.com


https://www.pyqonline.com/

PL-2

113.

114,

116.

(71)

If a dice is thrown once, then the probability of getting a number greater than 6 is ;

1

(A) 0 (B) ¢

(©) 1 D) %

Ife Uk 9T Tk SR 3BT I 2, a1 6 H 91 T 374 i Wihar 2
1

(A) 0 B) ¢
2

© | D) %

Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.

(B) Mathematics has its own language terms, concepts, formulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the whole world.

91 3 A =1 HUA 7T <l hid | Hefud @l @ 7

(A) TifUTd § W@ 3T, A, 9l 2A1fe w1 read fea smar g |

(B) I 6T 31t vt e, e, @ anfe #a # | .
(C) U 1 T fifeheh el Al 2 | 5

(D) IO T T THE 7Td § G0 9 61 2[1 2 |

. “Mathematics is the language in which God has written the Universe.” This statement is

told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“rifore arg e 2 Foren vver 3 el a1 g i o fem 2 17 a8 wua fema e
(A) Treffer (B) i

(C) g T (D) fored

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”

This statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C) Aesthetic value (D) International value

AT < SFER — “TITT i Ifa TUT g < hi AT § HeEld 8 |7 I8 HH T 6
e e & e B 7

(A) OIS I (B) WIS ged
(C) Hi=aiesh geu (D) FFigr oo
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The author of the book “GANITA SAR SANGRAH" is :

(A) Aryabhatta (B) Shri Dharacharya

(C) Pythagoras (D) Mahaveeracharya

‘TifiTe A T0E’ AT e % @ B ;

(A) miwg (B) it

(C) Trgamired (D) HEH=R Bav

In which method by moving from ‘Particular to General’, we generate formulas in
Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

fopm fafyr o “fafore @ A=’ <61 3K S g &0 Tfvrd & o1 6l @ S @ ¢
(A) Frmm fafa (B) = fafer

(C) A fafy (D) =T ferfe

The knowledge of which of the following is most helpful in painting ?

(A) Geometry (B) Statistics
(C) Arithmetic (D) Function
foafafea 3 @ frwen s famesen 1 waifus wgems 8 7
(A) T@mfEa (B) wifershi
(C) AFfirg (D) e

Which of the following is not an evaluation method ?

(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
frefefiga 3 8+ # v qoaie sfafa 7 3 7

(A) TIRITHR (B) dardt

(C) SyTaedt (D) =F%-faw
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121. When was the Family Planning (Family Welfare) Programme started in India ?

(A) 1947 (B) 1951
(C) 1958 (D) 1960
YA # UHER FHESH (THETR SHeamn) HrRiRH Sl AR w6 g3 o 7
(A) 1947 (B) 1951
(C) 1958 (D) 1960
122, Which of the following hormone supports pregnancy ?
(A) Insulin (B} Adrenaline
(C) Melatonin (DD} Progesterone

frafafiga @ @ <R @1 g S9ad 4 SgEH 8 7
(A) sHfem (B) Ufgett

(C) HetetH (D) FSEAH
123. Which of the following is not an example of Kharif crop ?
(A) Cotton (B) Soyabean
(C) Maize (D) Pea ﬁ%@
frafafa 3 @ == a1 @iv 6 wac 51 e 7 2 7 ke
(A) HIH (B) drErEH
(C) Tahl (D) "X
124. Which of the following is not a scientific teaching method ?
(A) Anecdote method (B) Evaluation method
(C) Psychophysical method (D) Questionnaire method
frfafiga & o = it v Janfe e fafr w28 2
(A) hgrft fafy (B) gearhd faft
(C) wARfEs fafu (D) gwE fafy

125. The main objective (aim) of evaluation is :
(A) Removal of students errors.
(B) Measurement of students achievement.
(C) Give promotion of students.
(D) Diagnosis and treatment of leamning deficits.
oo o1 &4 339 2 -
(A) Torenfer & gfeat e |
(B) Toemfefa <t suefes =i amomm |
(C) Torenfiiai =61 W=t e = |
(D) g i = =1 e vd 39=m S |

126. Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television

(C) Laptop (D) Epidiascope
i o fareor-wgrres amft, yea-gva Sy A afthferd 7 2 7
(A) Fafaa (B) ocAifasA

(C) e (D) faa-foars
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Correct decreasing order of friction forees is :

(A) rolling, static, sliding (B) rolling, sliding, static
(C) static, rolling, sliding (D) static, sliding, rolling
=] Sl <l WEl Hedl 3 1

(A)  @refien, @ifew, adi (B) @iefes, arl, P
(C) wifas, arels, ad (D) e, adi, <t

An object is moving on a circle of radius R. When it completes half circle, then the
distance and displacement travelled by it will be :

(A) =mR,R (B) 2= R,R E%%
i
(C) =R,2R (D) 2xR,2R
us g R e & ga wonfawe 2 | 99 98 Aggd g ! 2, d1 35 g 9 <6l TS gl @
fereemm grm
(A) =R,R (B) 2xR,R

(C) =nR,2R (D) 2aR,2R

A wooden spoon is dipped in a cup of ice-cream. Its other end

(A) becomes cold by the process of radiation.

(B) becomes cold by the process of convection.

(C) becomes cold by the process of conduction.

(D) does not become cold.

AhE! | Ueh T I HATFEGHIT b ATl T GHIAT A1 2 | FHRT g8
(A) Taferor <6t wfsman = smur g1 8 s |

(B) a1 uferan & s 321 8 s |

(C) =Te = ST3RAT o 10T 31 &1 ST |

(D) @1 7l g |
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130. The value of x in the given diagram is :
Normal
Incident Reflected
ray ray
307
Plane Mirror
(A) 15° (By 30°
(C) 90° (D) 60°
s
At wrafda e
femron farm =S
309
A <4l
(A) 15° (B) 30°
(C) 90° (D) 60°
131. The frequency of a sound source 1s 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 200
ferelt warf= =@ 1 31mafd 50 Hz 2 | 39 2 s § a1 < & i
(A) 25 (B) 50
(C) 100 (D) 200
132, LED emits Light :
(A) Only green colour (B) Only red colour
(C) Only yellow colour (D)  All of these
LED Webr3T Jcafofd e & :
(A) el gU T (B) <haet Tt T1
(C) <had diar @ (D) g
133. Which of the following is not a member of the solar system ?
(A) An asteroid (B) Meteors
(C) A satellite (D) A comet
freferfigd 3§ 4 1 i aiEn = ge TEi 2 7
(A) Heus (B) 3ehIY
(C) 3wz (D) ¥Hg
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. Laboratory method is based on which principle ?
(A) Learning by seeing (B) Learning by doing
(C) Learning by rote (D) All of these
yarenen fafy fera fagra w snaf@ 2 7
(A) CEH e (B) =i HiE
(C) W HREA (D) T+
. Synthetic fibre among the following is :
(A) Nylon (B) Cotton
(C) Wool (D) Silk
frafafiga 4 @ woefva @ 2
(A) TseiH (B) UH =m
(C) 34 (D) i
The symbol of potassium element 1s :
(A) P (B) Po
(C) Pt (D) K
TrfIem aw 1wl 2
(A) P (B) Po
(C) Pt (D) K
Chemical formula of aluminium nitrate is :
(A) AINO, (B) Al(NO,),
(C)  AL(NO,), (D)  ALNO,),
vetfufem 13ge 1 raEt g R
(A) AINO, (B) AI(NOy),
(C) AL(NO,), (D) ALNO,),
Which of the following mixture can be separated by the winnowing method ?

(A) Mixture of grain and husk

(B) Mixture of grain and pebbles
(C) Mixture of wet sand and pebbles
(D) Mixture of sand and water

fFmafafiga 3 @ = @ figo frsaram fafy gro gues fon s w8 7
(A) IF=TehuT a1 & 1 o (B)  31=Tehv 92T shehg &1 firsm
(C) et fugh aen sheng o1 fsm (D)  Tugh aun art =1 fasm

. Synthetic indicator among the following is :

{A) Litmus (B Turmeric

(C) China rose petals (D) Phenolphthalein
freferfiaa 3 & wveia gu & -

(A) ferena (B) &

(C) T I ugfeai (D) HRTefH
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143, Which edible part is modification of stem ?
(A) Turnip (B)
(C) Sweet Potato (D)
fre o @ S T v e & o wIaw R 7
(A) eTaH (B)
(C) Whlh< (D)

144. Which of the following is a simple tissue ?
(A) Xylem (B)
(C) Sclerenchyma (D)
7 9 3 v e A 2
(A) SITgeiH (B)
(C) ThHeAAHTZHI (D)

145. Which of the following is not an air pollutant ?

(77)
The pair of green-house gases is :
(A) 0, CO, (B) CO,,N,O
(C) N, CH, (D) 0O,.H,0
gia-T i w2
(A) 0,,CO, (B) CO,, N,O
(C) N, CH, (D) 0, H,0
Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Tclcvision (D) Blackboard
frafafiga 3 3 yer-g7a frem aem 2
(A) e (B) =Te
(C) qgash (D) FEMHIEL
Which bacteria is found in roots of leguminous plants as symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli (D)  Achromobacter
egfiata diei i SIS i o Sfar] gesiied % 9 8 9 g 7
(A) TrgifeEm (B) dfaerm

(C) $.%Ts (D)

(A) Carbon mono-oxide (B)
(C) Methane (D)
o 3§ @ i oy gy i 2 7
(A) “RTET T30S

(C) " (D)

https://www.pygonline.com
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Carrot
Potato

HIE
ST

Phloem
None of these

-

TACH
S @ ig T

Nitrogen oxide

Oxygen

(B) ARIISH JATEEE

FiadTaH=
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146. Sacred groves are found in
(A) Khasi and Jaintia hills of Meghalaya
(B} Aravalli hills of Rajasthan
(C) Western ghats of Maharashtra
(D) All of these
ufgs 3uae uTe 9 8
(A) Herer =) @t 9 st werfe 4
(B) s & el uad 2fge i
(C) werTg < ufyerft are 4
(D) s g

147. Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis
(B) Corynebacterium diphtheriae
(C) Mycobacterium leprae
(D) Neisseria gonorrhoeae

i B Sfam] & ue e g g 2
(A) TTShISTFATET TR o ﬁ%g

| CIl7ia<8
(B) R feweriars
(C) wrghiawd iy el
(D)  reyien T
148. Which type of sebaceous glands present in human skin ?
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine

O &= F delra aferRi 9 8 v i Bdi g 7
(A) BRI (B) Hitisre
(C) BIABRIEA (D) WA

149. Disease caused by deficiency of Vitamin A is :

(A) Night-blindness (B) Ben-Beri
(C) Scurvy (D) Rickets
faarfim v (a) Frft I g aren i 2 -
(A) T (B) F0-30
(C) wehell (D) frheH
150. In which phase of cell cycle, synthesis of histone protein occurs ?
(A) G,-Phase (B) S-Phase
(C) G,-Phase (D) M-Phase
HIfTeRT <73k <l i Ht ST # feem i = dye g 2 2
(A) G,-H=En (B) S-SRI

(C) G,-Sra (D) M-Sraen
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SECTION-IV(b) / @S — [V(b)
SOCIAL STUDIES / SIS 31e98

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T @vs 1 F 60 WA § | Fom srafiii 3 g fawr @1 wa= foren @ 3% woft wom e aifari 2

91. Approximate Extension of the shadow zone of S-wave is —

(A) 105°to 145° (B) 105°to 105°
(C) 145°to 145° (D) 90°to 90°
-7 % BT 8 1 TR T 8 —
(A) 105°H 145° (B) 105°® 105°
(C) 145°H 145° (D) 90° ¥ 90°
92.  On which beach is Kayal located ?
(A) Malabar Coast (B) Konkan Coast
(C) Kathiawar Coast (D) Coromandel Coast
AT fra e M g 7
(A) WCMER T2 (B) hishUl dC
(C) HIfSAETE @2 (D) PAMSH d2
93. Batholiths, Lacoliths, Lapolith and Phacolith are related to Q%El?
(A) Earthquake (B) Voleano Epsty.
(C) River (D) '_Gravitational force
aeifery, St eidifery 9 $eifay wwef-ud 8 —
(A) WFHH (B) e A

(GRECE: (D) &Y a

94. Which statements about the “Faience” are true ?
(I)  Faience mines have been found in Mehrgarh.
(I)  Faience were found naturally.
(TIT) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, carring and tiny vessels.
(A) LII I (B) ILIIL IV
(C)y LIV, V (D) IV, VI
‘GBI FAR TSR Y HYA P g B 7
() ¥4 6l @eH HguTe | fireht 2 |
(1)  Whd~4 Sepfereh d T 9T SI1d & |
(I11) ST A1 Thieeh Teer 3 501 i e o fierent 398 T s=mg S off |
(IV) 35k 918 3 3Tl T U ool T Jers it o |
(V) a5 8 5k, gfeal, e 3R i Fo4 5910 I & |
(A) LILII (B) IL I, IV
(C) I IV.V (D) 1V, V.1
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Which statements are true about Rigvedic period ?

() Soma was a plant.

(I1) Brahma, Vishnu and Mahesh were the main deities.
(TI) Called Sukta or “Well Said”.

(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the god of warrior.

(A) LI (B) IL IV
(C) IV.V D) LV
Fdfceh et < T § & U %9 9T § 7

() E T T o |

(11)  stan, foawn 9 o9 sy <aar 9 |

(1) F 1 HqeTd, <D a8 § Sl 71 1 |

(IV) IS o RIS T T T 2 |

(V) 33 38 1 98 adi T o1 |

(A) LI (B)y ILIV

(C) IV.V D)y LV

Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

U U1 a3 gg & sl per s fio gae s adignu n g 7

(A) <ra fem (B) Wesh fAm E.%%
() wfsgm frm (D) 3R Frr *

Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka

(C) Abhidhamma Pitaka (D) Jataka

$H 9§ stg 1Y 1§ sig 99 @ 931 § @ et St = fere Framt w6 g an ¢
(A) T e (B) §d fies

(C) Ffaerm fyes (D) s

Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika

(C) Mahabharata , (D) Upanishad
Tt 29 B ©: agfa (veeel) ¥ S mie 2 7

(A) Fead SRTo (B) <ify

(C) HaHRdA (D) 3Iafwg

Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B} Xuan Zang

(C) Itsing (D) Magasthenes

ufvem ufirn & A e Yoy ket % TSiga o F9 H WRieId § WA i A 7
(A) HIEH (B) 3= e

(C) sfcam (D) e

https://www.pygonline.com


https://www.pyqonline.com/

PL-2

(81)

100, State the complete true statements about Arikamedu.
(I)  Itis located in Puducherry.
(IT)  Arikamedu was a Coastal settlement.
(IT1) Other finds include pottery such as amphorae.
(IV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.
(A) LILTI (B) IILIV,V
(C) IV, V,I (D) V. IV,I
Hfrpmirg < T o qof gy %A S |
() g ggal 4 feua ar |
(1) HAfrepmg FEYl oo o7 |
(1)) &l Uhr Y arE it € |
(IV) 8T G WA & Heiferd aeqd firefi 2 |
(V) T8l o T < &gt & |
(A)y LIILII (B) ILHLIV.V
(C)y IV, V.1 (D) V.IV,1
101. The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King ?
(A) Chandragupta (B) Samudragupta
(C) Harsha (D) Kanishka
it ditefar v @ frr T S eER i w Y ¢
(A) (B) AT mie
(©) w (D) s v
102. In which play we find an interesting description of the plight of a poor fisherman in Gupta
period ?
(A) Harshcharit (B) Abhigyan Shakuntalam
(C) Mudrarakshasa (D) Mrichhakatikam
I | A1e U TH I H U TS AGAR o 1Y TAHHATE] b Ga8R hl 41d Hal 85 8 7
(A) THafd (B) g wehaerm
(C) wHzra&™ (D) YeshicHn
103. Where is the temple of “Bhitargaon™ situated ?
(A) Uttar Pradesh (B) Bihar
(C) Orissa (D) Bengal
“fraonia” 1 Afe gl W a8 7
(A) SWHE (B) faem
(C) < (D) el

104.

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B) Krishna Dharma

(C) Guru Sandesh (D) Bhagavati Dharma

TZEdl Yawedl % ITIg H ehied, S A9g el % gEd WaRe 9, % 37T bl R A |
Haifera fpan wman @ 2

(A) Ty 94 (B) & e

(C) TeEE (D) et o
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. What was Khud-kashta and Pahi-kashta in Mughal period ?
(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
qricishlicl H Geehlvd d WifgehTva &1 9 7
(A) TS o FhR (B) ®Hel * TN
(C) TIEA & T (D) Topumi & TR

What was the relation of “Manzil-abadi”, “Sipah-abadi™ and “Mulk-abadi” during the
Mughal period ?

(A) Part of Book (B) Portion of the Population

(C) Part of Revenue (D) Part of Administration

ekt # “Afer-smard)”, “faug-mard” 9 Yoo - 3ardl” w1 Hay feed or 7

(A) &I o A (B) SHEEAT % W

(C) TS % W (D) FSITEA % 91

Who got the book published under the name “Stripurushtulna™ ?

(A) Tarabai Shinde (BY Pandita Ramabai

(C) Jyotirao Phule (D))  Rashsundari Dewvi

“eigwaqerr AW B fepare foroa yemifira wearg 7

(A) awETs g (By fear wram E%g
.

(C) wHferrd el (D) Torgedt gt

When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?

(A) 1941 (B) 1943

(C) 1945 (D) 1947

HENTS o TaRT ¥ THHIA 8L (Ui TEahR) i TIHT & 6 g 7
(A) 1941 (B) 1943

(C)y 1945 (D) 1947

Which word is not given in Preamble of the Constitution of India ?
(A) Belief (B) Faith

(C) Worship (D) Language

9T o Hfaer st 3efarent § i o wreg 7 femmman 2 2

(A) favam (B) e

(C) 3981 (D) wm™

When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B) 2011
(C) 2013 (D) 2014
i | vy feshar (SHifaem weer i vy fasra fafemm) sififem %a ey gen
(A) 2010 (B) 2011
(C) 2013 (D) 2014
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111, “The Idea of Residual Powers™ provision in India is adopted from which Country’s constitution ?
(A) British Constitution (B) United States Constitution
(C) French Constitution (D) Canadian Constitution
“arafire yifFaat =1 fagTa’ 1 TauH YR ¥ fohg <9 & gfqum 3 foqnman 8 7
(A) Tafew gfaam (B) Fwfient & diqam
(C) Wi & |fguH (D) ATST & HfguH
112. In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D. Jatti (B) V.V.Giri
(C) Zail Singh (D) N.S. Reddy
A | WUl FEEEA el STEHE H1 G % A1g HRIaraeh Tguid & &1 5 foha Hr T 7
(A) gt = (B) et it
(©) o fare (D) T.EE. @
113. Which two states have same number of Lok Sabha Constituencies ?
(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka
(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha
fepa 21 Tt i e Fafa-ami Figemana 2 ¢
(A) ITEE, AES (B) A, HARH
(C)  3TY TS, T (D) T, affesm
114, Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B)y 1096 )
(C) 1097 (D) 1098 E%%
Tl 1 gl vd weg % fore F g Rouersa T d - .
(A) 1095 (B) 1096
(C)y 1097 (D) 1098
115. In India which Constitutional Amendment determined the size of the Council of
Ministers ?
(A) 81 (B) 91
(C) 101 (D) 102
e 1 form e guiem g Atmfteg = smer e fen mwn
(A) 8l (B) 91
(C) 101 (D) 102
116. In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?
(A) P.K. Thungan Committee (BJ B.R. Mehta Committee
(C) Ashok Mechta Committce Sadik Ah Committee
%Dﬁmmﬁﬁﬁm:ﬁamzﬁﬁm@aﬁaﬁmﬁmmmmﬁmﬂﬁ ?
(A) di.eh. g afafa (B) .3, ugar wfufy
(C) 379ivh g wfifa (D) e et afifa
117. *Abolition of titles” is a part of which Fundamental Right ?
(A) Right to Equality (B) Right to Freedom
(C) Right Agunst Exploitation (D) Cultural and Educational Rights
“‘Furfern @ 37d’ fora diferss stfuen @ faam @ 7
(A) Al ST SAUBR (B) TEa=dl &1 AUHR
(C) irwvr < fasg arfien (D) Gl 3 SAideh it
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Identify the correct group of Scheduled languages in the Eighth Schedule of the

Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sansknt
(C) Santhali, Hindi, Sanskrit (D) Gujarati, Marathi, English
T *h HfawH < e g ¥ srgfea w1 % 98 Tgg % 1" |
(A) e, STH, B (B) 3urh, f&d, wepa

(C) W, fadl, a5 (D) TS, T, U

The circle that divides the day from night on the globe is called —

(A) Circle of illumination (B) Equatorial circle

(C) Eliptical Orbit (D) Summer Solstice

TAls T 98 g A fed vd Ua i fawifora st &, saamn 8 -
(A) wafd ga (B) ymeE™ 9a

(C) Segamhr 7y (D) I A

Katabatic winds blows from —

(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Sea to Land (D) From Land to Sea

gl ge yanfed gt & - ggg
(A) ®Td E 7dq i WE (B) udd | =rdt & E .
(C) T3 % Td i T (D) TS ° 95 Il TH

Which one is not a limitation of assessment ?

(A) Lack oftime

(B) More importance to the competition

(C) Conceptual error

(D)  Freedom from fear and stresstul environment

1 i Hl Ush 3Tehetd ohl HHT 81 & 7

(A) a9 hi (B)  wiceyt =1 aiferss vgw

(C)  HeheuaTers qfe (D) & ud eyt aites | gft

Which one 1s not prerequisite of lesson planning ?

(A) Knowledge of subject

(B) Knowledge of learner family background

(C) Knowledge of child psychology

(D)  Knowledge of methods and techniques

F H U 18 Ao 1 qEiien TE R 7

(A) Tawa =M (B) tfepmaenat <t arftanfes geyfl =1 w4

(C) ot WA &1 74 (D) faferai (fveaur) wa aepitehi 1 3
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123. Which one of the following is correctly matched ?
(A) Socrates — Instruction method
(B) Plato — Questioning method
(C) Herbert Spencer — Dialectic method
(D) Aristotle — Deductive and Inductive method
o 1 @ A v wd gafaa 2
(A) Febua — Frdam fafy
(B) @il — wedre fafe
(C) & e - Hare fafy
(D) 31 — WA 3 e fafy
124. Which one is not a general objective of teaching of social studies ?
(A) Acquaintance with the environment
(B) Interest in socio-economic institutions
(C) Appreciation of cultural heritage
(D) Appreciation of caste system
i |1 Ush WIS LI o1 &1 A= 32w 481 2 7
(A) TR & gftfaa g (B)  grarhaTeh - 3nfdies geymi | 5fy
(C) Hrepides fatma =i qug (D)  fer-we =ht T
125. How many steps are suggested for solving a problem 7 %%?
(A) 2 (B) 3 -
(C) 5 (D) 7
T % THIUM < fore fepas =wr & gema fenmn g
(A) 2 (B) 3
) 5 (D) 7
126. From which layer of the atmosphere do radio waves come back ?
(A) Stratosphere (B) Mesosphere
(C) lonosphere (D) Exosphere
e i argdee i fpe oid & amm andt 8 7
(A) HHAM A (B) W USdA
(C) A Hed (D) dTal Hsd

127.

Which of the following cyclone is called water spouts in sea ?

(A) Typhoons (B) Hurricanes
(C) Willy-Willies (D) Tornado
fom 1 @ fopw s =) Oz W S T hEd @ 7

(A) TEEA (B) &k

(C) Toeht-fochi= (D) I
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128. Which of the following currents are cold currents ?

. Labrador current 2. Ovashio current
3. Benguela current 4, Alaska current
(A) 1,2,4 (By 1,2,3
(Cy 2.3.4 (D) 1,3, 4
frfefiga amsi 3 o P i St umnd & ¢
.  TEER YW 2. FARE 9w
3. S g 4, ARl U
(A) 1,2,4 (B)y 1,2,3
(Cy 2.3.4 (D) 1,3,4
129. During the time of perigee the tidal range is -
(A) Equal to normal (B) Less than normal
(C) Greater than normal (D) None of these
37 % GHY S A BT 8 —
(A) WM SET (B) WY HY
(C) T & e (D) 39 & FiE 7
130. Match the following forests and trees :
Forest Tree ﬁ.;%%
(1) Tropical Evergreen (a) Spruce D
(2) Tropical Deciduous (by Palm
(3) Montane (¢) Mahogany
(4) Mangrove (dy Sal

m @ G @
(A) (d) (c¢) (a) (b)
B) () (@ ((b) (@
(C) () (d (a) (b)
D) @ (b (¢) @
feferfiga a1 wa gai =t gafer Hifsw -
o) Ekil
(1) It ageagr  (a) ©MF
(2) Iosfeaefg it (b)) AT
(3) TEdE (c) warH
(4) e (d) I«
mn @ G @
(A) (d) (¢) (a) (b)
By © @ b (@
(C) (©) (d (@ (b)
(D) @ (b)) (c) (d
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131. Which of the following is a group of Iron ore belts in India ?
(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B} Kudremukh (Karnataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)
(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
frafafiga @ 9 % a1 ara 4 ¢ig 3w ufedi H1agg 2 ?
(A) Tizym (zwgs), sarfeen (Sxfiame), Joci (3ny 9e)
(B) F3H@ (Fich), HUa (3fifeam), Senl (FRES)
(C) WAl (FNEs), SAled (Sdiae), WgLas (fifem)
(D) wst (Aifeam), fiey (s@e), denfeen (SHamg)

132. In which direction the Aravalli range extends in Rajasthan ?

(A) South-East to North-West (B) North-West to South-East
(C) South-West to North-East (D) North-East to South-West
eI # 3raedt Tdanten e foom 3 fawa @ ¢
(A) Tla-vd § IT-T(Tam (B) I-ufzad ¥ fequr-d
(C) efm-afyan & sw-m (D) IW-Yd o gfeaur-ufvem

133. Match the following district and climatic regions : w5

District Climate region E%}’

() Jaisalmer (a) Extreme humid
(2) Jaipur (b) Humid
(3) Sawai Madhopur (¢) Semi-Humid
(4) Jhalawar (d) Dry

@B 2 & &
(A) (¢) (b) (a) (d)
(B) (d (c) (@ (b)
C) @ (b (© @
D) (d () () (a)
freferfiaa fai v serary yeut 1 gafaa Hifs -

foren ST S
(1) SR (a) arfa-118
(2) SEE (b) 1M
(3) HETS HTHI (c) -3
(4) FIAEE (d) =6

mn @ & @
(A) (¢) (b) (@) (d)
(B) (d) (c) (a) (b)
C) (d (b)) () @
(D) (d) () (b) (@
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Which of the following are correct statements with reference to district and projects ?

(1) Chittorgarh — Rana Pratap Sagar Dam

(2) Ajmer — Bisalpur Project

(3) Udaipur — Mansi Vakal Project

(4) Pratapgarh — Jakham Project

(A) (1), (3), (4) (B) (1).(2).(3)
(2), (3). (4) (D) (1),(2). (4)

ﬁwqaqum%mﬂﬁﬁﬁ“ﬁiaaﬁﬁﬁqﬁwaﬁ%

(1) Tasiigng — T yar |§rR &Y

(2) I — ST aiEe

(3) 3ICAR — THH arehe TRATSHT

(4) YATHTE — SATEH qiE S

(A) (1), (3),(4) (B) (1),(2), (3)
(©) (2,03). @4 (D (1), 2).H

. In which Crops Rajasthan is the top producer in India ? https://www.pyqgonline.com

(A) Mustard, Chickpea, Dewgram

(B) Psyllium husk, Cumin, Cluster bean
(C) Chickpea, Green gram, Black gram
(D)  Green gram, Maize, Pearl Millet

fr wae! o Ieared T USRI %1 I H YUW = 2 7 Q%El?
(A) @CEN, <A1, 613 (B) SHee, S, samw R
(C) =1, 471, 358 (D) ¥, 51, WIS

During 2001-2011 Population growth rate of Ganganagar district is —

(A) 10.0% (B 16.9%

(Cy 325% _ (D) '21.3 %o

2001 & 2011 31afy % SR TR e f Seen afg e -

(A) 10.0% (B 16.9%

(C) 325% (D 213%

Which ruler of Mewar was given the name of “*Vishamghati Panchanan’ ?
(A) Rana Hamir (B) Rana Lakha

(C) Rana Kumbha (D) Rana Udai Singh
“faramend) v 6 w5 AT & e wwes w1 E e ot ¢

(A) Tom Edi (B)  TOTT TG

(C) T Hul (D) T 3etHE

Who was the Maharana of Udaipur at the time of revolt of 1857 ?

(A) Jaswant Singh (B) Swaroop Singh

(C) Udai Singh (D) Ratan Singh

1857 <ht shifdl % THa I = TSN D & 7

(A) FHEAldE (B) Tewuftg

(C) 3Icafas (D) A3
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139. Where was the third session of “Rajputana Madhya Bharat Sabha™ held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) Delhi
“TSTYRHT W& W T %1 offerr st el wogan 7
(A) ATFTX (B) SHITX
(C) 3SR (D) Teeeht
140. Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“gad TSEUR " o SUEE fhd s men o 7
(A) BT I (B) TigparuTs Wg
(C) Zrere s (D) rprH greftard
141, Who is known as “Banasur ka Shaheed™ ?
(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“TITE 1 IEIE " A & D 91 Iq@ SAfed A1 141 8 7
(A) Halifég aHEs (B) e Hmfeg
(C) wamfég anEs (D) gdeler #a frefie i
“' I.
142. Who built Churu Fort in 1739 ? @%ﬁi
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
o g1l o Fmfor 1739 3 fopem wamn ¢
(A) SHadiEg (B) uafyz
(C) HeammEa (D) 3 HuT fag
143, Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?
(A) Head (B} Neck
(C) Hand (D) Waist
qeret, grerd, femfurar e did ames gy afgenalt gru IR S 9 8 9 9 ggd S 8 7
(A) fam (B) T
(C) =¥ (D) =hHL
144. Which Film has been made on the book “Duvidha” by Vijaydan Detha ?
(A) Mumal, Phulwari (B} Alekhu Hitler
(C) Duvidha, Paheli (D) Uljhan, Suljhan

forsrergm 2 i Teas “gfaen” W wh =@ fhen w1 Fmim gt g g ¢

(A) THE, FeAar (B) 3erg feeem
(C) gferen, wgedt (D) 3A3H, GeIzH
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. “Hela Khyal™ is a folk theatre from which region of Rajasthan ?

(A) Dausa (B) Bikaner

(C) Sikar (D) Barmer

“B TATA” AT Al A12d TR & i § 89 d Hafua g 7

(A) < (B) R

(©) (D) R

What is Patelya, Bichhiyo, Lalar, and Machar ?

(A) Famous songs of Mewar (B) Famous songs of Marwar

(C) Famous songs of Mewat (D) Famous songs of Hadoti

T, S, el g St FE 7

(A) TaTE & ufag hia (B) um@ETE % ufbg mhd

(C) Tam % uferg e (D) grErh % wftrg i

“Social Science as a general term for all the sciences which are concerned with the human
aftairs.” This is defined by

(A) Seligman (BY Mitchell

(C) Fairchild (D) Peter Lewis

“graTtaeh fasm 3 ot fasmi & fore uer amm=r wiee & &9 4 S 9ee 9THel 9 getid @ (7
g wfewfya fopan man 2

(A) FeEF g (B) firdrer Zmy rar
(C) HIEEE g (D) dieX wifera gra
Which of the following is an Audio — Aids ?
(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board
fradasndi s gmfi 2 7
(A) Teamem (B) 2eAES WSt
() Ta= foares = (D) eifea ard
Which one is not a type of project method given by Killpatrick ?
(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
< T i T U feharifeens g fean man aiEg e i yemR TE 2 v
(A) TETCH TIETSH (B) Taeames o
(C) HEETCH T (D) 3vTH i
. Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
i sAfirsnfia argeeH 1 wfarer fere o 7
(A) HTH9 U, 13X (B) .U, whiat
(C) uierE® (D) ¥imE wk, fiesdé
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INSTRUCTIONS / fadm
(Read carefully and comply / &R & 93 3 rem =i)
IMPORTANT / wrererqei

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. The candidate has to answer of that subject in \suuml { I\ .J} Mathematics and Science or (1V b} Social Studics as sclected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet '\umber
st

g e Mnsﬁzwﬁarfﬁawﬁmnm i =13 vg iz AT st OMR o2 1 qFuisT
TR mmrg afeF aEm- mﬁ'mmww@m Eﬂfl &1

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A e aWem-aa 7 femn . o ) _ _
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm

(]

1),

TR AHT Teld HAT AT |
Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of vour {}\IHAJ]‘-\L&I Sheet.
fun =1 quf w0 & saaaET E A FEE 87 7 OMR ¥R w0 R g 7% vea-giem (FEee) 1 oad | afz am rem a6F § faam
ﬂmmﬁﬂmém(}fﬂkm?tﬁlwﬁﬂawmmwmmwﬁ AT T A B |
The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
usa 3 S T UW W 3 f 0w ';0 g% ¥ | OMR stz w fargz ma -mm A (59 T T F s i wen & vg A
WA - UfEAT & S AW W oA T g 2
All questions are of MCQ (Multipte Choice Question) type. There is only one correct answer to each question carrying ene mark. There
will be no negative marking for wrong answers.
n‘mva-rrwfawq-ramwr | S A v fawe B wd ¥ | wew e T T it dwem # | e e ol werrer ofmn w Fisd i |
All (|u-.~l|0|l- other_ than language 1||u~st|un- of Sections 11 and 111 shall be hlill’l'j.l.ldl
WyA-T % AT wex [ ww 111 % Al 3 91 | WIS T WEA Faul
Inany event of any 111[_'1].'l|\<.'\ inany guestion's, candidates will not be penalized. However ng corrections will be made in question's durmg the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
m.-.lull'l Rooklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e - @ A e, | Famft s Ao s saeen wd e |
Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, 4, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WET & AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensurc that any page/ question is not missing / not printed /torm / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand get it IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A 2 PE QW # AT Wel A1 A9 ¢ A e AR A2 T2 | Al g
1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g
anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F FIE, s, A, v -1 @i e, firee s w na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wl WA 3 TR g I A, HLHI)'E]L"'_-I' ?|'FI'GT'HLWFH'H?T_*RWWF_HEF_'REHU\]Ruﬁfq'ﬂ'ﬁ'ﬁ"ﬂﬁ;’lmmﬁq1
ZFA T3 1 TR F I AT | R f‘#: H1@ W FR i w09 f I w ) FemaniFae s gmmmatiag
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

o gl w98 T & 9l Wea F9 F a1 T8 o sk | OMR site Fen ea aan ey afm 2 s ardl s wownee R
BATR | mmmtmaarﬂmﬁﬂﬁiaﬁﬁh:qqguﬁmm o 3 AT el ) A 3 0w Wi A A T A TEa | e e
e T‘ et r)\m ﬁpg ufd v we-qieeE e oA g | et Fee wrh OMR w9 R me o W W | meA -
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